

Kansas Register

Kris W. Kobach, Secretary of State

	Vol. 33, No. 35
1	

August 28, 2014

Pages 873-908

n this issue	Page
Kansas Council on Developmental Disabilities	
Request for proposals for abuse, neglect and exploitation prevention program	874
Request for proposals for plan to support employment outcomes	
Rock Hills U.S.D. 107 (Mankato)	
Request for proposals for energy conservation contract	875
Department of Administration—Procurement and Contracts Notice to bidders for state purchases	
Department of Administration—Office of Facilities and Procurement Management	
Notices of requested architectural services	875, 876
Kansas Board of Regents Universities	0.0,0.0
Notice to bidders	876
Secretary of State	07 0
Notice of forfeiture	877
City of Overland Park	
Notice of public information meeting	877
Legislative interim committee schedule	
Pooled Money Investment Board	
Notice of investment rates	878
City of Wichita	
Notice to bidders	878
Kansas Department of Transportation Notice to consulting firms	
Notice to contractors	
Department of Health and Environment	
Notice concerning water pollution control permits/applications	880
Request for comments on proposed hazardous waste management permit	882
City of Seneca	
Notice of intent to seek private placement of taxable general obligation bonds	882
Notice of Bond Sale	002
City of Fairway	883
City of Hugoton	
Coffeyville Community College, Coffeyville, Kansas	
Notice of intent to issue revenue bonds	884
City of Mulvane	
Notice of intent to seek private placement of general obligation refunding	
and improvement bonds	885
Department of Revenue—Division of Vehicles Notice of intent to establish a new location for an existing new motor vehicle dealer	885
Permanent Administrative Regulations	
Department of Administration	885
Temporary Administrative Regulations	
Kansas Lottery	887
Index to administrative regulations	
0	

Council on Developmental Disabilities

Request for Proposals

The Kansas Council on Developmental Disabilities (KCDD) announces the release of a request for proposals to qualified agencies to develop and administer a program designed to protect individuals with intellectual and developmental disabilities by the prevention of abuse, neglect and exploitation. Eligible applicants are able to furnish all personnel, equipment and administrative services to meet program objectives intended for the target audience.

A complete copy of the RFP may be found at http://www.kcdd.org under KCDD Grants. Written questions about the RFP from potential bidders will be accepted until 2 p.m. September 8, 2014. Questions should be emailed to Craig Knutson, KCDD public policy coordinator, at cknutson@kcdd.org. Answers will be posted on the aforementioned webpage by September 12, 2014. Proposals must be received not later than 2 p.m. central time October 2, 2014, at the Kansas Council on Developmental Disabilities, c/o Craig Knutson, Public Policy Coordinator, Room 141, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

Steve Gieber Executive Director

Doc. No. 042817

State of Kansas

Council on Developmental Disabilities

Request for Proposals

The Kansas Council on Developmental Disabilities (KCDD) announces the release of a request for proposals to qualified agencies to develop a plan designed to support employment outcomes for people with intellectual and developmental disabilities (I/DD) and incorporate all of the resources that are available to achieve this end, emphasizing family and self-advocate involvement and awareness of employment opportunities for people with I/DD. Eligible applicants are able to furnish all personnel, equipment and administrative services to meet program objectives intended for the target audience.

A complete copy of the RFP may be found at http://www.kcdd.org under KCDD Grants. Written questions about the RFP from potential bidders will be accepted until 2 p.m. September 8, 2014. Questions should be emailed to Steve Gieber, KCDD executive director, at sgieber@kcdd.org. Answers will be posted on the aforementioned webpage by September 12, 2014. Proposals must be received not later than 2 p.m. central time October 2, 2014, at the Kansas Council on Developmental Disabilities, c/o Steve Gieber, Executive Director, Room 141, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

Steve Gieber Executive Director

Doc. No. 042818

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2014. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Published by

Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office:

1st Floor, Memorial Hall 785-296-3489 Fax 785-296-8577 kansasregister@sos.ks.gov (Published in the Kansas Register August 28, 2014.)

Rock Hills U.S.D. 107 Mankato, Kansas

Request for Proposals

Rock Hills U.S.D. 107 is seeking to establish a relationship with an energy service company for the purposes of developing and implementing an energy conservation contract as defined by K.S.A. 75-37,125. Rock Hills U.S.D. 107 desires to select a full-service firm or team that will be available to assist with all aspects for project development, project implementation and the long-term guarantee of savings.

The deadline for submitting responses is 2 p.m. Friday, September 5, 2014. Parties interested in obtaining a request for proposal should contact Nadine Smith, Superintendent, Rock Hills U.S.D. 107, 109 E. Main St., Mankato, 66956, 785-378-3102, fax 785-378-3438 or nsmith@usd107.org.

Nadine Smith Superintendent

Doc. No. 042808

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

09/09/2014	EVT0003299	High Performance Cold
		Asphaltic Concrete Mix
09/09/2014	EVT0003300	Agricultural Services – Crop
		Production at Cheyenne Bottoms
09/09/2014	EVT0003314	Aggregate – Osage Fishing Lake
09/10/2014	EVT0003308	Vertical Storage Water Heaters
09/10/2014	EVT0003310	Truck with Body for Glass Beads
09/18/2014	EVT0003249	Square D Products and Services

The above-referenced bid documents can be down-loaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations

09/10/2014	A-012630	Roof Replacement – Paola Readiness Center – Paola – Adjutant General's Dept., Topeka	
09/11/2014	A-012633	Bravo Gate Entrance ATFP Upgrade – Joint Forces Headquarters Complex – Adjutant General's Dept., Topeka	
09/17/2014	A-012260	Southeast Kansas Research Extension Center – Parsons – Kansas State University, Manhattan	
09/18/2014	A-012529	New Shop Building – Region 2 – Kansas Dept. of Wildlife, Parks and	

Tourism, Topeka

09/23/2014 A-012264 Replacement Housing – Weist Hall – Fort Hays State University, Hays

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Procurement and Contracts

Doc. No. 042842

State of Kansas

Department of Administration Office of Facilities and Procurement Management

Notice of Requested "On-Call" Architectural Services

Notice is hereby given of the commencement of the selection process for "on-call" architectural services for the University of Kansas School of Medicine, Wichita campus. One firm will be selected. The contract will be for three years.

For more information contact David Rau at 913-945-5493 or drau2@kumc.edu. Firms interested in providing these services should be familiar with the requirements found in Part B — Chapter 4 of the Building Design and Construction Manual at the website below.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should be less than 5MB and follow the current State Building Advisory Commission guidelines found in Part B — Chapter 2 of the Building Design and Construction Manual at http://www. admin.ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Procurement Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submittals shall be delivered to the attention of Randy Riveland by 2 p.m. on or before September 12, 2014.

> Mark J. McGivern, Director Office of Facilities and Procurement Management

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University — Bid postings: www.emporia.edu/busaff/. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: tshepher@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801-5415.

Fort Hays State University — Bid postings: www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University — Bid postings: www.k-state.edu/purchasing/rfq. Additional contact info: phone: 785-532-5214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

Pittsburg State University — Bid postings: www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas — Electronic bid postings: http://www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center — Bid postings: http://www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University — Bid postings: www.wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

Steve White Chair of Regents Purchasing Group Director of Purchasing Wichita State University

Doc. No. 042813

State of Kansas

Department of Administration Office of Facilities and Procurement Management

Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural services for the partial remodel of Summerfield Hall at the University of Kansas, Lawrence. Remodeled space will house the Department of Film and Media Studies, and include a new two-story soundstage allowing for a new permanent cyclorama. This will include a partial demolition of the floor between the first and second levels. Also included will be a new exterior access for equipment rentals and delivery, new men and women's green rooms, and office for staff. Other work includes new recording studios, including sound control room; a new Film and Media Studies library, equipment storage and checkout space; and new animation studio, new production studio and new computer labs. Existing restrooms and drinking fountains on each floor shall be brought into compliance with the ADA, where currently deficient. The project construction budget is \$2,940,000.

For more information contact Laura Gagliano at lgagliano@ku.edu or 785-864-5675. An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should be less than 5MB and follow the current State Building Advisory Commission guidelines found in Part B — Chapter 2 of the Building Design and Construction Manual at http://www.admin. ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Procurement Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submittals shall be delivered to the attention of Randy Riveland by 2 p.m. on or before September 12, 2014.

> Mark J. McGivern, Director Office of Facilities and Procurement Management

Secretary of State

Notice of Forfeiture

In accordance with Kansas statutes, the business entities organized under the laws of Kansas and the foreign business entities authorized to do business in Kansas that are listed in the linked document were forfeited during the month of July 2014 for failure to timely file an annual report and pay the annual report fee. The list of forfeited domestic and foreign business entities can be found at the following link under the August 28, 2014, issue of the Kansas Register:

http://www.kssos.org/pubs/pubs_kansas_register.asp

Please Note: The list represents business entities forfeited in July. Any business entity listed may have filed for reinstatement and be considered in good standing by the time of this publication. To check the status of a business entity go to the Kansas Business Center's Business Entity Search Station at https://www.kansas.gov/bess/flow/main?execution=e2s4 (select Business Entity Database) or contact the Business Services Division at 785-296-4564.

Kris W. Kobach Secretary of State

Doc. No. 042833

(Published in the Kansas Register August 28, 2014.)

City of Overland Park, Kansas

Notice of Public Information Meeting

The city of Overland Park will be conducting a public meeting regarding the roadway improvement plans for the 159th Street and U.S. 69 Highway interchange improvements. The open-house public meeting will be held from 6 to 7 p.m. Thursday, August 28, at the Blue Valley Public Works Maintenance Facility, 6869 W. 153rd St., Overland Park.

The city of Overland Park wants to ensure that the public is aware of this meeting. The city considers the Overland Park community's thoughts and ideas about this project extremely valuable and encourages the community's attendance.

For more information contact Larry Blankenship, assistant city engineer, city of Overland Park, at 913-895-6007. Requests for special accommodations should be directed to June Sayles at 913-895-6025 (Kansas Relay Service 800-766-3777).

Berry Lutz, Contract Specialist Public Works Department City of Overland Park, Kansas

Doc. No. 042827

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Aug. 28	548-S	10:00 a.m.	Confirmation Oversight Committee	Consider various appointments.
Sept. 2	152-S	10:00 a.m.	Joint Committee on Administrative Rules and Regulations	Agenda not available.
Sept. 3	112-N	9:00 a.m.	K-12 Student Performance and Efficiency Commission	School district officials' testimony regarding the commission's statutory charge.
Sept. 4	112-N	9:00 a.m.	K-12 Student Performance and Efficiency Commission	School district officials' testimony regarding the commission's statutory charge.
Sept. 9	159-S	10:00 a.m.	Joint Committee on State Building Construction	Review 5-year capital improvement plans.
Sept. 10	159-S	9:00 a.m.	Joint Committee on State Building Construction	Review 5-year capital improvement plans.
Sept. 10	218-N	9:00 a.m.	Joint Committee on Special Claims Against the State	Review claims.

Jeffrey M. Russell Director of Legislative Administrative Services

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2013 Supp. 12-1675(b)(c)(d) and K.S.A. 2013 Supp. 12-1675a(g).

Effective 8-25-14 through 8-31-14

	U
Term	Rate
1-89 days	0.09%
3 months	0.03%
6 months	0.05%
12 months	0.12%
18 months	0.31%
2 years	0.54%

Scott Miller Director of Investments

Doc. No. 042824

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation is seeking a qualified consulting engineering firm, which must be prequalified in Category 323 – Underwater Bridge Inspection, for the project listed below. A PDF (1.0 Mb maximum size) letter of interest must be emailed to David J. Nagy, P.E., assistant to the director of design/contracts engineer, at davidn@ksdot.org. Responses are to be limited to four pages, and the subject line of the reply email and the file name must read "106 KA-1675-02 LOI – Firm Name." Letters of interest must be received by noon September 11, 2014, for the consulting firm to be considered. View categories at http://www.ksdot.org/divengdes/prequal/default.asp.

106 KA-1675-02 Statewide

This project is to investigate and prepare reports for underwater bridge inspections in accordance with FHWA-DP-90-1 within calendar year 2015. The project has 21 locations, which include four Missouri River crossings. The consultant will need to augment the underwater diving inspections with side scan radar technology. The consultant will also be an "on-call" consultant for additional underwater inspections through calendar year 2018 as warranted by flood events and to fulfill the LPA annual underwater bridge inspection needs.

The Consultant Shortlist Committee will select at least three of the most highly qualified firms expressing interest and schedule an individual interview for the project. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. View categories at www.ksdot.org/divengdes/prequal.

The Consultant Selection Committee, appointed by the secretary of transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select one firm to perform the professional services required for completing the advertised project.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firms:

- 1. Size and professional qualifications.
- 2. Experience of staff.
- 3. Location of firm with respect to project(s).
- 4. Work load of firm.
- 5. Firm's performance record.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support cost and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or davidn@ksdot.org.

Jim L. Kowach, P.E. Director Division of Engineering and Design

Doc. No. 042828

(Published in the Kansas Register August 28, 2014.)

City of Wichita, Kansas

Notice to Bidders

The city of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, 67202, until 10 a.m. Friday, September 26, for the following project:

KDOT Project No. 54-87 KA-2285-01/54-87 KA-2289-01/472-84840/400622 (OCA Code 760622) Paving

Kellogg Frontage Roads between 135th & 151st

Requests for the bid documents and plans should be directed to QuikPrint at 316-942-2208 or to Jody Doyle at 316-268-4503. Other questions should be directed to the respective design engineer, 316-268-4632.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of 5 percent with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Kim Pelton at 316-268-4499 for extra sets of plans and specifications.

Jody Doyle Administrative Aide II City of Wichita–Engineering

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the KDOT website at http://www.ksdot.org/ burconsmain/contracts/proposal.asp. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid not later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject the bid. The secretary of transportation reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2007 edition of the Kansas Department of Transportation Standard Specifications for State Road and Bridge Construction.

KDOT will only accept electronic proposals using the Bid Express website at http://www.bidx.com until 1 p.m. local time September 17, 2014. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 S.W. Harrison, Topeka, at 1:30 p.m. local time September 17, 2014. An audio broadcast of the bid letting is available at http://www.ksdot.org/burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One — Northeast

Brown—73-7 KA-4031-01 — U.S. 73 beginning at the north city limits of Horton north to the Nebraska/Kansas state line (except Hiawatha), sealing, 23.2 miles. (State Funds)

Douglas—23 TE-0390-01 — Pedestrian bike path continuation of the existing Burroughs Creek Rail Trail at 23rd Street to the proposed South Lawrence Trafficway Trail, pedestrian and bicycle paths. (Federal Funds)

Johnson—69-46 KA-3661-01 — I-435/U.S. 69 interchange, bridge #137 on U.S. 69 northbound over I-435, bridge repair. (State Funds)

Leavenworth—52 N-0602-01 — Lansing: Angel Falls Trail, safety pedestrian and bicycle, 0.5 mile. (Federal Funds)

Osage—70 C-4502-01 — 4.5 miles west and 0.6 mile south of Burlingame, bridge replacement, 0.2 mile. (Federal Funds)

Riley—113-81 U-0168-01 — K-113 and Kimball in Manhattan, traffic signals, 0.1 mile. (Federal Funds)

Shawnee—24-89 K-7431-03 — U.S. 24, from Country-side Road east to the existing 4-lane section, seeding, sodding, 1.3 miles. (Federal Funds)

Wabaunsee—99-99 KA-4027-01 — K-99, north city limits of Alma to south edge of wearing surfacing of Kansas River Bridge south of Wamego, pavement marking, 12.6 miles. (Federal Funds)

Wyandotte—70-105 KA-1003-16 — West half of the I-70/K-7 interchange, seeding, sodding, 1.5 miles. (Federal Funds)

District Two — North Central

Dickinson—70-21 KA-0732-02 — I-70, 0.4 mile west of K-15 (Abilene) east to 2.3 miles east of east K-43 junction, seeding/sodding, 8.5 miles. (Federal Funds)

Saline—70-85 KA-3974-01 — I-70 bridge #065, located 1.55 miles east of the K-143/I-70 junction, bridge repair. (State Funds)

District Three — Northwest

Decatur—36-20 KA-0026-01 — U.S. 36, bridge #002, Sappa Creek, located 2.26 miles east of U.S. 83 junction, bridge replacement. (Federal Funds)

Decatur—36-20 KA-0026-02 — U.S. 36, bridge #003, Sappa Creek drainage, located 3.96 miles east of U.S. 83 junction, bridge replacement. (Federal Funds)

Decatur—36-20 KA-0026-03 — U.S. 36, bridge #004, Sappa Creek drainage, located 6.77 miles east of U.S. 83 junction, bridge replacement. (Federal Funds)

District Four — Southeast

Franklin — 35-30 KA-3988-01 — I-35, bridge #029 located 2.92 miles northeast of the I-35/U.S. 59 junction (northbound lanes over the Marais des Cygnes River), bridge repair. (State Funds)

District Five — South Central

Harvey—135-40 KA-3740-01 — I-135 bridge #040, located at the junction of I-135/K-196 (I-135 northbound over RS 1937 spur and K-196), bridge repair. (State Funds)

Kiowa—49 C-4635-01 — All county roads north of U.S 54 and east of U.S. 183, signing, 152.0 miles. (Federal Funds)

Kiowa—49 C-4636-01 — All county roads north of U.S. 54 and west of U.S. 183, signing, 87.5 miles. (Federal Funds)

Sedgwick—235-87 KA-2040-02 — I-235 and 13th Street connection on west side of Wichita, seeding/sodding, 1.0 mile. (State Funds)

Sedgwick—135-87 KA-3609-01 — Existing truss structure located on bridge #290 at the I-135/Central Avenue interchange, lighting. (State Funds)

Sedgwick—135-87 KA-3646-01 —I-135/K-96 and I-135/I-235 interchanges, surfacing, 0.2 mile. (Federal Funds)

District Six — Southwest

Stevens—95 C-0308-02 — City of Hugoton (Safe Routes to School), pedestrian and bicycle paths. (Federal Funds)

Mike King Secretary of Transportation

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-14-227/230 Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Jerry Sleichter	NW/4 of Section 01,	Smoky Hill River
733 2500 Ave.	T13S, R01E & NW/4	Basin
Abilene, KS 67410	of Section 06, T13S,	
	R02E, Dickinson	
	County	

Kansas Permit No. A-SHDK-S019

This permit is being reissued for an existing facility with a maximum capacity of 61 head (24.4 animal units) of swine more than 55 pounds, 360 head (36 animal units) of swine 55 pounds or less, 180 head (180 animal units) of cattle more than 700 pounds and 180 head (90 animal units) of cattle 700 pounds or less, for a total of 330.4 animal units. There is no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Darrell Heinen	NE/4 of Section 21,	Big Blue River
2781 Indian Road	T02S, R10E,	Basin
Axtell, KS 66403	Marshall County	

Kansas Permit No. A-BBMS-S051

This permit is being reissued for an existing facility with a maximum capacity of 120 head (120 animal units) of cattle more than 700 pounds and 348 head (174 animal units) of cattle 700 pounds or less, for a total of 294 animal units. There is no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Terry L. Broyles Broyles Brothers 2801 Botkin Road	NE/4 of Section 12 & SE/4 of Section 01, T23S, R21E,	Marais des Cygnes River Basin
Blue Mound, KS 66010	Linn County	Dasiii

Kansas Permit No. A-MCLN-S022

This is the reissuance of a permit for an existing facility for 2,050 head (820 animal units) of swine weighing greater than 55 pounds and

1,680 head (168 animal units) of swine weighing 55 pounds or less, for a total of 988 animal units of swine.

Name and Address of Applicant	Legal Description	Receiving Water
Lowell Carpenter Carpenter Ranch Feedyard 209 County Road U Brewster, KS 67732	NW/4 of Section 29 & SW/4 of Section 20, T07S, R36W, Thomas County	Upper Republican River Basin

Kansas Permit No. A-URTH-B003

This permit is being reissued for an existing facility for 700 head (700 animal units) of cattle weighing more than 700 pounds. This represents a decrease in the permitted capacity from the previous permitted capacity of 1,500 head (1,500 animal units) of cattle weighing more than 700 pounds.

Public Notice No. KS-AG-R-14-025/027

Per K.S.A. 65-171d, the following registrations have been received for proposed confined feeding facilities:

Name and Address of Registrant Isaac Carr 8 bros Land & Cattle 4838 S. Highway 57 Junction City, KS 66441	Legal Description SW/4 of Section 05 & SE/4 of Section 06, T13S, R07E	County Geary
Name and Address of Registrant Chad Cargill Cargill Ranch LLC 8600 N.E. Isabel Road Isabel, KS 67065	Legal Description W/2 of Section 33, T30S, R11W	County Barber
Name and Address of Registrant John R. Hieger John R. & Marla J. Hieger 7310 Flint Rock Road Wamego, KS 66547	Legal Description S/2 of Section 14, T09S, R09E	County Pottawatomie

Public Notice No. KS-Q-14-144/151

The requirements of the draft permits public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria:

Name and Address of Applicant	Receiving Stream	Type of Discharge
Allen, City of P.O. Box 383	Hill Creek via Unnamed Tributary	Treated Domestic Wastewater
Allen, KS 66833 Kansas Permit No. M-MC02-	OO01 Federal Pe	ermit No. KS0080055

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit

Legal Description: NW1/4, SE1/4, SW1/4, S14, T16S, R11E, Lyon County,

contains limits for biochemical oxygen demand, total suspended solids and E. coli, as well as monitoring for ammonia and pH.

Name and Address Receiving Type of

of Applicant	Stream	Type of Discharge
Blue Mound, City of P.O. Box 100	Little Osage River via Irish Creek	Treated Domestic Wastewater
Blue Mound, KS 66010		

Kansas Permit No. M-MC05-OO02 Federal Permit No. KS0095737 Legal Description: NE¹/₄, SW¹/₄, SE¹/₄, S32 T22S, R22E, Linn County, KS

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand, total suspended solids and E. coli, as well as monitoring for ammonia and pH.

	Receiving Stream	Type of Discharge
10801 Mastin, Suite 920 U	Mine Creek via Unnamed Tributaries	Process and Stormwater Runoff

Kansas Permit No. I-MC35-PO02 Federal Permit No. KS0097624 Legal Description: NE¹/₄ and NW¹/₄ S35; NW¹/₄, SW¹/₄ and SE¹/₄ S36, T21S, R25E, Lynn County, KS

Facility Name: Lucky Strike Mine

This action is to reissue an existing permit for the operation of an existing facility. This is a surface bituminous coal mining operation. Stormwater runoff and strata percolation from active strip mining, processing plant and associated areas, post mining and reclamation activities are directed to sedimentation ponds for treatment prior to discharge. Coal processing consists of sizing only; no water is utilized in the coal processing. No other sanitary waste is generated at this facility. The proposed permit contains limits for total suspended solids, settleable solids, total recoverable iron and pH.

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
David C. Bradshaw 22500 Lakeview Point Vassar, KS 66543	Hundred and Ten Mile Creek via Unnamed Tributary	Treated Domestic Wastewater

Kansas Permit No. C-MC58-OO01 Federal Permit No. KS0097764
Legal Description: SE¼, NW¼, NE¼, S30, T16S, R17E, Osage County,

Facility Name: Green Acres Company

Facility Location: K-268 and Pomona Dam Entrance, Vassar, KS 66543

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Kansas Department of	Middle Creek via	Treated Domestic
Transportation	Payne Creek	Wastewater
700 S.W. Harrison,	•	

14th Floor Topeka, KS 66603-3754

Kansas Permit No. M-MC31-OO02 Federal Permit No. KS0081477 Legal Description: SE¹/₄, NW¹/₄, SE¹/₄, S34, T17S, R18E, Franklin County,

Facility Name: Franklin County Rest Area (I-35)

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
McCracken, City of	Big Timber Creek	Treated Domestic
P.O. Box 5	9	Wastewater
McCrackon KS 67556		

Kansas Permit No. M-SH26-OO02 Federal Permit No. KS0092088 Legal Description: NE½, NE½, SW¼, S8, T17S, R20W, Rush County, KS The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit

of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total phosphorus, chlorides, sulfates, total recoverable selenium and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Quinter, City of	Coyote Creek via	Treated Domestic
P.O. Box 555	Unnamed Tributary	Wastewater
Quinter, KS 67752	,	

Kansas Permit No. M-SA15-OO01 Federal Permit No. KS0116939 Legal Description: NE½, NW¾, NW¼, S28, T11S, R26W, Gove County, KS The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, sulfates, total recoverable selenium and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Wilson, City of	Wilson Creek	Treated Domestic
P.O. Box J		Wastewater
Wilson KS 67490		

Kansas Permit No. M-SH40-OO02 Federal Permit No. KS0096954 Legal Description: NE¹4, SE¹4, SE¹4, S19, T14S, R10W, Ellsworth County, KS

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, sulfates, total recoverable selenium and pH. Contained in the permit is a schedule of compliance requiring the permittee to provide KDHE with an evaluation of the operations of the wastewater treatment facility and to complete improvements, if necessary, to bring this facility into consistent compliance with permit requirements.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before September 27 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-14-227/230, KS-AG-R-14-025/027, KS-Q-14-144/151) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of health and environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

Robert Moser, M.D. Secretary of Health and Environment

(Published in the Kansas Register August 28, 2014.)

City of Seneca, Kansas

Notice of Intent to Seek Private Placement Taxable General Obligation Bonds, Series 2014-A

Notice is hereby given that the city of Seneca, Kansas (the issuer), proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$840,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Dated August 20, 2014.

Jane Strathman City Clerk

Doc. No. 042838

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment received Hazardous Waste Facility Part A and Part B permit renewal applications from Koch Nitrogen Company, LLC (operator/owner). The facility is located at 11559 U.S. Highway 50, Dodge City, Kansas, and has EPA identification number KSD044625010.

KDHE is providing notice of its intent to renew the RCRA hazardous waste management permit for the facility. The proposed permit will require Koch Nitrogen Company, LLC, to close the Chromium Destruct Unit, conduct post-closure care for this regulated unit, and implement site-wide corrective action including groundwater monitoring and remediation at the facility.

In October 1985, the state of Kansas received final authorization from the U.S. Environmental Protection Agency to implement a hazardous waste management program in lieu of the federal program, except for those portions covered by the 1984 Hazardous and Solid Waste Amendments (HSWA). In September 2013, authority for the corrective action portion of the RCRA program was delegated to the state of Kansas.

The draft permit sets forth in a concise document all of the applicable requirements that KDHE will require the permittee to comply with during the 10-year duration of the permit. The draft hazardous waste permit includes standard permit conditions, general facility conditions, closure and post-closure care requirements, groundwater monitoring and remediation, as well as corrective action for all solid waste management units and areas of concern.

The draft permit is being considered for issuance under authority of K.S.A. 65-3430 et seq. and K.A.R. 28-31-4 through 28-31-279a. Documents that support the permit conditions specified in the draft permit are part of the

administrative record. Applicable regulations are found in 40 CFR Parts 124, 260 through 264, 268 and 270, as specified in this permit. All citations found in the draft permit to federal regulations are for the sake of convenience. Some modifications to federal regulations by applicable state regulations are noted in this permit, but all modifications to federal regulations by state regulations are incorporated. To the extent that state regulations exclude any sections of applicable federal regulations, those sections are not in effect. In the instance of inconsistent language or discrepancies between conditions found in the permit, state regulations or federal regulations, the language of the more stringent provision will govern; otherwise, state law governs.

State hazardous waste laws require that the public be given at least 45 days to review the administrative record for the draft permit prior to KDHE taking a final action. The purpose of having a public comment period is to ensure that interested parties have the opportunity to evaluate the conditions specified in the draft permit and to provide their input into the permit decision-making process. A copy of the administrative record, which includes the draft permit, the fact sheet, the permit application and all information pertaining to this permit action, is available for public review from September 2 to October 17, Monday through Friday during normal business hours, at the following locations:

Kansas Department of Health and Environment Hazardous Waste Permits Section 1000 S.W. Jackson, Suite 320 Topeka, 66612 Contact: Mostafa Kamal 785-296-1609

Dodge City Public Library 1001 N. 2nd Ave. Dodge City, 67801 Contact: Sam Shipley 620-225-0248

The administrative record also can be accessed on the KDHE website at http://www.kdheks.gov/waste/p_pub not_hw.html.

As specified in 40 CFR 124.11, during the public comment period any interested person may request a public hearing in writing that states the nature of the issues proposed to be raised in a public hearing. In the event that a hearing is scheduled, advance notice of the date will be given to the public. The secretary of KDHE will make the decision regarding the issuance of the permit after the close of the public comment period. The secretary will consider all comments received during the public hearing and comment period.

When the final decision to issue or deny the permit is made, notice will be given to the applicant, to all persons who submitted written comments and to those who requested notice of the final permit decision. If none of the comments received during the public comment period result in revisions to the draft permit, the permit will become effective immediately upon issuance of the final permit decision. If comments received during the public comment period result in revisions, the permit will be-

come effective 30 days after service of notice of the final decision to allow for public review of the revisions in accordance with 40 CFR 124.15 and K.A.R. 28-31-124(c)(8). Appeals of the final permit decision for the permit must be filed within 15 days after service of notice in accordance with K.S.A 65-3440 and K.S.A. 77-601 et seq.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042834

(Published in the Kansas Register August 28, 2014.)

Summary Notice of Bond Sale
City of Fairway, Kansas
\$3,950,000*
General Obligation Bonds, Series 2014-A
(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Notice of Bond Sale dated August 28, 2014, written and electronic bids will be received on behalf of the city administrator/city clerk of the city of Fairway, Kansas (the issuer), in the case of written bids, at the address set forth below, and in the case of electronic bids, through PARITY, until 1 p.m. (CDT) September 8, 2014, for the purchase of the above-referenced bonds. No bid of less than 100 percent of the principal amount of the bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will be dated September 30, 2014, and will become due on September 1 in the years as follows:

_	Principal
Year	Amount*
2015	\$ 75,000
2016	165,000
2017	165,000
2018	175,000
2019	180,000
2020	180,000
2021	185,000
2022	185,000
2023	190,000
2024	195,000
2025	200,000
2026	205,000
2027	210,000
2028	215,000
2029	220,000
2030	225,000
2031	235,000
2032	240,000
2033	250,000
2034	255,000

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning March 1, 2015.

Book-Entry-Only System

The bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Kansas State Treasurer, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States, a qualified financial surety bond or a wire transfer in Federal Reserve funds immediately available for use by the issuer in the amount of \$79,000.

Delivery

The issuer will pay for preparation of the bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about September 30, 2014, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations for the year 2013 is \$80,660,655. The total general obligation indebtedness of the issuer as of the dated date, including the bonds being sold, is \$10,660,000.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the issuer, printed on the bonds and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from the undersigned, or from the financial advisor, at the addresses set forth below.

Written and Facsimile Bid and Good Faith Deposit Delivery Address:

City of Fairway, Kansas Attn.: City Administrator/City Clerk 4210 Shawnee Mission Parkway, Suite 100 Fairway, KS 66205 913-262-0350 Fax: 913-262-4607

Financial Advisor:

George K. Baum & Company 4801 Main St., Suite 500 Kansas City, MO 64112 Attn: David Arteberry 816-474-1100 Fax: 816-283-5326

Dated August 28, 2014.

City of Fairway, Kansas

*Subject to change, see Notice of Bond Sale dated August 28, 2014.

(Published in the Kansas Register August 28, 2014.)

Summary Notice of Bond Sale City of Hugoton, Kansas \$690,000* General Obligation Bonds Series A, 2014

Details of the Sale

Subject to the terms and requirements of the Official Notice of Bond Sale dated August 11, 2014, of the city of Hugoton, Kansas, bids to purchase the city's General Obligation Bonds, Series A, 2014, will be received at the office of the city clerk at city hall, 631 S. Main, Hugoton, KS 67954, or by telefacsimile at 620-544-4535, until 2 p.m. (CDT) Monday, September 8, 2014. The bids will be considered by the governing body at its meeting at 5:15 p.m. on the sale date.

No oral or auction bids for the bonds shall be considered, and no bids for less than 100 percent of the total principal amount of the bonds and accrued interest to the date of delivery shall be considered.

Good Faith Deposit

Each bidder must submit a good faith deposit in the manner described in the Official Notice of Bond Sale in an amount equal to 2 percent of the principal amount of the bonds.

Details of the Bonds

The bonds will be dated October 1, 2014, and will be issued as registered bonds in the denomination of \$5,000 or any integral multiple thereof. Interest on the bonds is payable semiannually on April 1 and October 1 of each year, beginning April 1, 2015. Principal of the bonds becomes due on October 1 in the years and amounts as shown below:

Maturity Schedule

Principal Amount*	Maturity Date
\$60,000	2015
65,000	2016
65,000	2017
65,000	2018
70,000	2019
70,000	2020
70,000	2021
75,000	2022
75,000	2023
<i>75,</i> 000	2024

Payment of Principal and Interest

The Kansas State Treasurer will serve as the bond registrar and paying agent for the bonds.

Delivery of the Bonds

The city will prepare the bonds at its expense and will deliver the registered bonds to the successful bidder on or about October 1, 2014, at such bank or trust company or other qualified depository in the United States, specified by the successful bidder. Delivery elsewhere shall be made at the expense of the successful bidder. The successful bidder may elect to have the bonds registered under a book-entry-only system administered through the Depository Trust Company, New York, New York (DTC).

Legal Opinion

The bonds will be sold subject to the legal opinion of Triplett, Woolf & Garretson, LLC, Wichita, Kansas, bond counsel, whose fees will be paid by the city.

Financial Matters

The city's current assessed valuation for purposes of calculating statutory debt limitations is \$23,859,155. As of October 1, 2014, the city's total outstanding general obligation debt (including the bonds), is \$3,825,000, which excludes temporary notes outstanding in the amount of \$770,000 that will be retired with proceeds of the bonds described herein. The city's total indebtedness subject to debt limitation, as of October 1, 2014, is estimated to be \$269,111.05, which is 1.21 percent of the assessed valuation of the city.

Additional Information

For additional information contact the city clerk at the address and telephone number shown below.

City of Hugoton, Kansas Thomas G. Hicks, City Clerk City Hall, 631 S. Main Hugoton, KS 67954 620-544-8531 Fax: 620-544-4535

*Principal amount subject to change.

Doc. No. 042839

(Published in the Kansas Register August 28, 2014.)

Coffeyville Community College Coffeyville, Kansas

Notice of Intent to Issue Revenue Bonds

To all persons concerned and interested:

You are hereby notified that the Board of Trustees of Coffeyville Community College, Coffeyville, Kansas, did duly adopt a resolution declaring necessary and authorizing improvements to the Auxiliary Enterprise System (the system), comprised of constructing and equipping a student housing facility featuring approximately 342 beds, a manager's apartment, laundry area, game room, lounge and parking, and demolishing the existing men's dormitory, all on the campus of Coffeyville Community College, Coffeyville, Kansas (the project), at an estimated cost of \$14,500,000, including financing and reserve costs, under the authority of K.S.A. 76-6a13 to 76-6a25, inclusive, as amended and supplemented.

You are hereby further notified that the resolution authorizes the issuance and sale of system revenue bonds of the college in an amount of not to exceed \$14,500,000, such bonds to be used to pay the costs of the project, including financing and reserve costs.

You are hereby further notified that unless an action to contest the legality of the proposed revenue bonds of the college shall be filed in a court of law within 30 days of the date of publication of this notice, the right to contest the legality of any revenue bonds issued in compliance with the aforesaid resolution and other proceedings duly and legally had and taken by the board prior to the date of publication of this notice, and the right to contest the

validity of the provisions of such proceedings, shall cease to exist, and no court shall thereafter have the authority to inquire into such matters; and that after the expiration of said 30 days from the date of publication of this notice, no one shall have any right to commence an action contesting the validity of such revenue bonds or the provisions of such proceedings of the board and all such revenue bonds shall be conclusively presumed to be legal and no court shall thereafter have the authority to inquire into such matters.

Dated August 18, 2014.

Board of Trustees Coffeyville Community College Coffeyville, Kansas By: Becky Medley, Chairman Attest: Linda Moley, Secretary

Doc. No. 042831

State of Kansas

Department of Revenue Division of Vehicles

Notice of Intent to Establish a New Location for an Existing New Motor Vehicle Dealer

Premier Automotive of Bonner Springs KS, dba Victory Ford, has filed intent to change dealership location. Premier Automotive of Bonner Springs KS, dba Victory Ford, currently conducts business as Premier Automotive of Bonner Springs KS, dba Victory Ford, at 715 S. 130th St., Bonner Springs, Kansas. Premier Automotive of Bonner Springs KS, dba Victory Ford, seeks to relocate its location and line-make vehicles to 10041 Parallel Parkway, Kansas City, Kansas.

Pursuant to K.S.A. 8-2430(a)(5), any existing new motor vehicle dealer may protest the proposed relocation of the new-line make vehicles at Premier Automotive of Bonner Springs KS, dba Victory Ford, if that existing new motor vehicle dealer has a franchise agreement for the same line-make vehicles as that which are to be sold or offered for sale by Premier Automotive of Bonner Springs KS, dba Victory Ford, at 10041 Parallel Parkway, Kansas City, Kansas. K.S.A. 8-2430 (c) provides standing to any existing new motor vehicle dealer who has a franchise agreement for the same line-make vehicles as that which are to be sold or offered for sale by Premier Automotive of Bonner Springs KS, dba Victory Ford, at 10041 Parallel Parkway, Kansas City, Kansas, and provided that the existing new motor vehicle dealer is physically located such that its relevant market area, as defined in K.S.A. 8-2430(e), includes the location where the Premier Automotive of Bonner Springs KS, dba Victory Ford, dealership will be relocated.

Pursuant to K.S.A. 8-2430(a), any petition or complaint by any dealer with standing to protest must be filed with the director of vehicles within 30 days of this notice. Such petition or complaint must be directed to the Kansas Department of Revenue, Division of Vehicles, 11th Floor, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

> Lisa Kaspar Director of Vehicles

(Published in the Kansas Register August 28, 2014.)

City of Mulvane, Kansas

Notice of Intent to Seek Private Placement \$750,000

General Obligation Refunding and Improvement Bonds Series A, 2014

Notice is hereby given that the city of Mulvane, Kansas (the issuer), proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$750,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Patty Gerwick City Clerk

Doc. No. 042829

State of Kansas

Department of Administration

Permanent Administrative Regulations

Article 9.-HOURS; LEAVES; EMPLOYEE-MANAGEMENT RELATIONS

- **1-9-22. Job injury leave.** (a) Each classified or unclassified employee who sustains a qualifying job injury, as determined by the employee's appointing authority, shall be eligible for job injury leave in accordance with this regulation.
- (b) "Qualifying job injury" shall mean an injury that meets the following conditions:
- (1) Renders the employee unable to perform the employee's regular job duties;
- (2) arose out of and in the course of employment with the state; and
- (3)(A)Was sustained as a result of a shooting, stabbing, or aggravated battery as defined in K.S.A. 21-5413 and amendments thereto, by another against the employee;
- (B) was sustained as a result of a confrontation with a patient or client in a facility or ward for mental health, intellectual disability, or developmental disability in which the patient or client inflicts great bodily harm, causes disfigurement, or causes bodily harm with a deadly weapon or in any manner by which great bodily harm, disfigurement, dismemberment, or death can be inflicted; or
- (C) was sustained in any other situation in which the appointing authority determines that job injury leave is in the best interest of the state.
- (c) Job injury leave shall not exceed six total months away from work. While an employee is on approved job injury leave, the employing state agency shall continue to pay the employee's regular compensation. If the employee is awarded worker's compensation, the state

(continued)

agency shall pay the employee compensation in an amount that, together with worker's compensation pay, equals the regular pay of the employee. The employee shall not be required to use accrued sick leave or vacation leave. The employee shall continue to accrue sick and vacation leave as long as the employee remains in pay status. Nothing in this regulation shall be construed as providing voluntary or gratuitous compensation payments in addition to temporary total disability compensation payments pursuant to the worker's compensation laws.

- (d) The appointing authority may require an employee on approved job injury leave to return to full or limited duty if the employee is physically able to perform the duty as determined by a physician selected by the appointing authority or selected by a representative of the state self-insurance fund. However, limited duty allowed shall not, in combination with time away from work on job injury leave, exceed the total six months allowed for job injury leave. If the employee remains unable to return to full duty, the appointing authority shall take any action deemed to be in the best interest of the state.
- (e) While an employee is on approved job injury leave, the appointing authority may require the employee to be examined by a physician selected by the appointing authority to determine the capability of the employee to return to full or limited duty.
- (f) Each employee on approved job injury leave shall be prohibited from being gainfully employed by any other employer.
- (g) The requirements of this regulation may be waived or modified by the director upon written request of the appointing authority. Any waiver or modification may be granted only upon a finding by the director that both of the following conditions are met:
- (1) Granting the requested waiver or modification would not be in conflict with any statutes pertaining to leave.
- (2) Failure to grant the requested waiver or modification would create a manifest injustice or undue hardship on the employee requesting the job injury leave. (Authorized by K.S.A. 75-3706, K.S.A. 2013 Supp. 75-3747; implementing K.S.A. 75-3707 and 75-3746; effective, T-86-17, June 17, 1985; effective May 1, 1986; amended Nov. 21, 1994; amended Dec. 17, 1995; amended Sept. 12, 2014.)

Article 14.-LAYOFF PROCEDURES AND ALTERNATIVES TO LAYOFF

- **1-14-11.** Furlough. (a) For purposes of this regulation, "furlough" shall mean mandatory leave without pay for a preset number of hours during each pay period covered by the furlough. There are two types of furloughs.
- (1) An administrative furlough is a planned action by an agency that is designed to address budget reductions necessitated by reasons other than a lapse in appropriations. A furlough plan shall be required for each administrative furlough.
- (2) An emergency furlough occurs if there is an immediate or imminent lack of funding to continue agency operations or any emergency that results in an unantici-

pated interruption of funding to the agency. In an emergency furlough, an affected agency could have to cease activities that are not excepted by law, typically with very little lead time. A furlough plan shall not be required for any emergency furlough.

- (b) In accordance with this regulation, if an appointing authority deems it necessary, the appointing authority may implement an administrative furlough or an emergency furlough for all employees in the classified or unclassified service in designated classes, positions, organizational units, geographical areas, or any combination of those groups unless specific funding sources necessitate exceptions. An employee's social security and retirement contributions shall be affected under a furlough, but all other benefits, including the accrual of vacation and sick leave, shall continue, despite any other regulations to the contrary. A furlough shall not affect the employee's continuous service, length of service, pay increase anniversary date, or eligibility for authorized holiday leave or pay.
- (c)(1) For each administrative furlough, at least 30 calendar days before the date the administrative furlough is to be implemented, the appointing authority shall prepare a furlough plan specifying the following information:
 - (A) The cause of the funding shortage;
- (B) the effective date of the furlough and the date on which the furlough is to end;
 - (C) the methods for notifying the affected employees;
- (D) the amount of advance notice that will be given to affected employees, which shall not be less than 10 calendar days;
 - (E) the estimated cost savings;
- (F) each class, organizational unit, or geographical area to be affected;
- (G) the criteria used to select each class, position, organizational unit, or geographical area to be included in the furlough;
- (H) any exceptions to the furlough plan based on funding sources; and
- (I) the number of hours by which the workweek will be reduced, including separate categories detailing the proposed reduction in hours by standardized increments for exempt and nonexempt employees.
- (2) A copy of each furlough plan prepared in accordance with this subsection shall be submitted to the director at least 30 days before the date the administrative furlough is to be implemented.
- (d) For each emergency furlough, the affected employees and the director shall be notified by the appointing authority as soon as it is practical to do so.
- (e) This regulation shall not be used as a disciplinary action against any employee. (Authorized by K.S.A. 75-3706, K.S.A. 2013 Supp. 75-3747, and K.S.A. 75-5514; implementing K.S.A. 75-3707, 75-3746, and 75-5505; effective, T-88-5, Feb. 11, 1987; effective, T-89-1, May 1, 1988; effective Oct. 1, 1988; amended May 31, 1996; amended June 5, 2005; amended Sept. 12, 2014.)

Jim Clark Secretary of Administration

Captions

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

- **111-4-3344.** "Liquid Gold" instant ticket lottery game number 670. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Liquid Gold." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3344.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols

1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
Symbol of a bell	BELL
Symbol of a star	STAR
Symbol of a key	KEY
Symbol of a crown	CROWN
Symbol of a bunch of cherries	CHERRY
Symbol of the moon	MOON
Symbol of a bank	BANK
Symbol of a 7 (outlined)	SEVEN
Symbol of a diamond	DIAMOND
Symbol of a wishbone	WISHBON
Symbol of a lemon	LEMON
Symbol of a gold bar	WIN
Prize Symbols	Captions
FREE	\$5TICKET
\$5.00	FIVE\$
ΨΟ	11 V L W

\$10.00

\$15.00	FIFTN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$40.00	FORTY
\$50.00	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$1,000	ONE-THO
\$25,000	TWNFVTHO

- (c) For this game, a play/prize symbol shall appear in 46 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) In "Liquid Gold," the player will scratch the play area to reveal four "GOLD NUMBERS" and 20 "YOUR NUMBERS" with a corresponding prize amount. If any of the "YOUR NUMBERS" match any of the "GOLD NUMBERS," the player wins the corresponding prize amount. The player will scratch the two "BONUS" play areas. If a "GOLD BAR" symbol is revealed, the player wins the prize for that bonus.
 - (g) Each ticket in this game may win up to 22 times.
- (h) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	40,000	\$0
\$5	\$5	50,000	250,000
\$10	\$10	10,000	100,000
(\$5 x 2)	\$10	30,000	300,000
\$15	\$15	5,000	75,000
(\$5 x 3)	\$15	10,000	150,000
\$10 + \$5	\$15	10,000	150,000
\$20	\$20	2,000	40,000
\$15 + \$5	\$20	4,000	80,000
(\$10 x 2)	\$20	4,000	80,000
\$25 BONUS - BAR	\$25	10,000	250,000
\$30	\$30	50	1,500
(\$10 x 3)	\$30	100	3,000
\$25 (BONUS) + \$5	\$30	230	6,900
(\$5 x 6)	\$30	150	4,500
\$40	\$40	200	8,000
\$25 (BONUS) + (\$5 x 3)	\$40	1,800	72,000
\$50 BONUS -BAR	\$50	1,600	80,000
\$100	\$100	40	4,000
(\$20 x 3) + \$25 (BONUS) + \$15	\$100	100	10,000
(\$5 x 20)	\$100	100	10,000
\$50 (BONUS) + (\$5 x 2) + \$40	\$100	100	10,000
\$500	\$500	20	10,000
(\$100 x 4) + \$25 (BONUS) + \$5	0		
$(BONUS) + (\$10 \times 2) + \5	\$500	40	20,000
\$25 (BONUS) + \$50 (BONUS) -	+		
$($20 \times 17) + $25 + ($30 \times 2)$	\$500	40	20,000
\$1,000	\$1,000	6	6,000
\$500 + (\$100 x 3) + (\$50 x 2) + \$50 (BONUS) + \$25			
(BONÙS) + (\$10 x 2) + \$5	\$1,000	10	10,000
$(\$100 \times 5) + (\$50 \times 10)$	\$1,000	8	8,000
, , ,			(continued)

TEN\$

\$25,000	\$25,000	3	75,000
TOTAL		179,597	\$1,833,900

(j) The odds of winning a prize in this game are approximately one in 3.34. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3346. "7-11-21" instant ticket lottery game number 654. (a) The Kansas lottery may conduct an instant winner lottery game entitled "7-11-21." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3346.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
8	EIGHT
9	NINE
10	TEN
12	TWELV
13	THRTN
D: 0 1 1	
Prize Symbols	Captions
FREE	Captions \$1TICKET
	_
FREE \$1. ⁰⁰ \$2 ^{.00}	\$1TICKET
FREE \$1. ⁰⁰	\$1TICKET ONE\$
FREE \$1.00 \$2.00 \$3.00 \$4.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$
FREE \$1. ⁰⁰ \$2. ⁰⁰ \$3. ⁰⁰	\$1TICKET ONE\$ TWO\$ THREE\$
FREE \$1.00 \$2.00 \$3.00 \$4.00 \$5.00 \$10.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$
FREE \$1.00 \$2.00 \$3.00 \$4.00 \$5.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$ FIVE\$
FREE \$1.00 \$2.00 \$3.00 \$4.00 \$5.00 \$10.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$ FIVE\$ TEN\$ TWENTY
FREE \$1.00 \$2.00 \$3.00 \$4.00 \$5.00 \$10.00 \$20.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$ FIVE\$ TEN\$ TWENTY
FREE \$1.00 \$2.00 \$3.00 \$4.00 \$5.00 \$10.00 \$20.00 \$40.00	\$1TICKET ONE\$ TWO\$ THREE\$ FOUR\$ FIVE\$ TEN\$ TWENTY

- (c) For this game, a play/prize symbol shall appear in 12 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) The "7-11-21" ticket features three separate play areas, "GAME 1," "GAME 2," and "GAME 3." The player will scratch the play area in each game to reveal three number play symbols with a prize amount shown below the number play symbols in each game. If the number play symbols in each game add up to "7," "11," or "21," the player wins the prize amount shown for that game. Each game will be played separately.
 - (g) Each ticket in this game may win up to three times.
- (h) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
\$1 Free Ticket	Free Ticket	240,000	\$0
\$1	\$1	160,000	160,000
\$2	\$2	80,000	160,000
\$4	\$4	8,000	32,000
$($2 \times 2)$	\$4	24,000	96,000
\$3 + \$1	\$4	24,000	96,000
\$5	\$5	4,000	20,000
\$4 + \$1	\$5	8,000	40,000
$($2 \times 2) + 1	\$5	8,000	40,000
\$10	\$10	2,000	20,000
$($5 \times 2)$	\$10	8,000	80,000
$(\$4 \times 2) + \2	\$10	10,000	100,000
\$20	\$20	1,000	20,000
(\$10 x 2)	\$20	3,000	60,000
$(\$5 \times 2) + \10	\$20	4,000	80,000
\$40	\$40	400	16,000
$($20 \times 2)$	\$40	1,200	48,000
$(\$10 \times 2) + \20	\$40	2,400	96,000
\$100	\$100	100	10,000
$($40 \times 2) + 20	\$100	300	30,000
\$200	\$200	40	8,000
$($100 \times 2)$	\$200	60	12,000
\$2,100	\$2,100	20	42,000
TOTAL		588,520	\$1,266,000

(j) The odds of winning a prize in this game are approximately one in 4.08. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3347. "Cash Galore" instant ticket lottery game number 657. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Cash Galore." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3347.

(b) The "play and prize symbols" and "captions" for this game are as follows:

me are as follows:	
Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
3X	WIN3X
Prize Symbols	Captions
FREE	\$1TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THREE\$
\$5.00	FIVE\$

\$6.00	SIX\$
\$10.00	TEN\$
\$15.00	FIFTN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$100	HUNDRED
\$250	TWO-FTY
\$3000	THR-THO

- (c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) In "Cash Galore," the player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches the "WINNING NUMBER" to any of the "YOUR NUMBERS," the player wins the prize amount associated with the "YOUR NUMBER." If the player reveals a "3X" symbol, the player wins triple the prize amount associated with that symbol.
 - (g) Each ticket in this game may win up to five times.
- (h) Approximately 3,600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$1 Free Ticket	Free Ticket	360,000	\$0
\$1	\$1	240,000	240,000
\$2	\$2	120,000	240,000
\$3	\$3	12,000	36,000
\$1 (TPL)	\$3	24,000	72,000
\$5	\$5	12,000	60,000
\$1 (TPL) + \$2	\$5	24,000	120,000
(\$1 x 5)	\$5	24,000	120,000
\$6	\$6	12,000	72,000
\$2 (TPL)	\$6	12,000	72,000
\$10	\$10	6,000	60,000
(\$2 x 5)	\$10	18,000	180,000
\$15	\$15	1,200	18,000
\$5 (TPL)	\$15	3,600	54,000
$(\$5 \times 2) + (\$2 \times 2) + \$1$	\$15	7,200	108,000
\$20	\$20	1,200	24,000
\$5 (TPL) + \$5	\$20	2,400	48,000
$(\$2 (TPL) \times 2) + \$1 (TPL) + \$5$	\$20	2,400	48,000
\$30	\$30	240	7,200
\$10 (TPL)	\$30	720	21,600
$(\$3 (TPL) \times 2) + (\$2 (TPL) \times 2)$	\$30	3,840	115,200
(\$6 x 5)	\$30	1,200	36,000
\$100	\$100	24	2,400
\$30 (TPL) + \$2 (TPL) + (\$1 x 2) + \$2 \$10 (TPL) + \$20 (TPL) + \$2	\$100	324	32,400
$(TPL) + (\$2 \times 2)$	\$100	360	36,000
\$250	\$250	12	3,000
(\$20 (TPL) x 4) + \$10	\$250	48	12,000
\$3,000	\$3,000	4	12,000
(\$250 (TPL) x 4)	\$3,000	16	48,000
TOTAL		888,788	\$1,897,800

TPL - denotes tripler feature

(j) The odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

889

- **111-4-3348.** "Twisted Bingo" instant ticket lottery game number 658. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Twisted Bingo." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3348.
- (b) The "play/game symbols" for the four "BINGO CARD" play areas for this game are as follows:

01	02	03	04	05	06	07	08	09	10
11	12	13	14	15	16	17	18	19	20
21	22	23	24	25	26	27	28	29	30
31	32	33	34	35	36	37	38	39	40
41	42	43	44	45	46	47	48	49	50
51	52	53	54	55	56	57	58	59	60
61	62	63	64	65	66	67	68	69	70
71	72	73	74	75	FRE	EΕ			

In the "CALLER'S CARD" play area, a letter/number combination game/play symbol appears in each of the 24 play spots. Play symbols for the "CALLER'S CARD" play area for this instant game are the following:

B01	I16	N31	G46	O61
B02	I17	N32	G47	O62
B03	I18	N33	G48	O63
B04	I19	N34	G49	O64
B05	I20	N35	G50	O65
B06	I21	N36	G51	O66
B07	I22	N37	G52	O67
B08	I23	N38	G53	O68
B09	I24	N39	G54	O69
B10	I25	N40	G55	O70
B11	I26	N41	G56	O71
B12	I27	N42	G57	O72
B13	I28	N43	G58	O73
B14	I29	N44	G59	O74
B15	I30	N45	G60	O75

- (c) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (d) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (e) "Twisted Bingo" is a two-part vertically oriented game. The first part consists of the "CALLER'S CARD." The "CALLER'S CARD" contains 24 draw numbers covered by opaque latex.

The second part consists of four "BINGO CARDS" each containing 24 numbers and a "FREE" space in the center of each card, for a total of 25 squares. The free space may be counted as numbers to form winning patterns. The "BINGO CARDS" are each covered by translucent scratch-off material.

A player removes the scratch-off material from the areas on the ticket indicated by the words "CALLER'S CARD" to reveal a total of 24 draw numbers. A player wins by matching the "CALLER'S CARD" to the numbers on the four "BINGO CARDS." If the player finds a diagonal, vertical, or horizontal straight line of at least

(continued)

five squares, or four corners of the grid, an "X" pattern, or a twisted "W" pattern, the player wins a prize according to the prize legend beside the respective "BINGO CARD."

- (f) Each ticket in this game may win up to four times. Only one prize may be claimed on each of the four "BINGO CARDS."
- (g) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Expected

0.14	0.10	C 10	6.14		Number of Prizes	Expected Value
Card 1	Card 2	Card 3	Card 4	Prizes	in Game	in Game
Line \$2				\$2	208,000	416,000
	Line \$3			\$3	192,000	576,000
		Line \$5		\$5	41,600	208,000
Line \$2	Line \$3			\$5	48,000	240,000
TWIST \$5				\$5	80,000	400,000
	Line \$3	Line \$5		\$8	16,000	128,000
			Line \$10	\$10	2,000	20,000
Line \$2	Line \$3	Line \$5		\$10	8,000	80,000
4C \$10				\$10	14,400	144,000
	TWIST \$10			\$10	7,520	75,200
Line \$2	Line \$3		Line \$10	\$15	2,000	30,000
		Line \$5	Line \$10	\$15	1,000	15,000
	4C \$20			\$20	1,000	20,000
		TWIST \$20		\$20	2,000	40,000
4C \$10			Line \$10	\$20	1,000	20,000
Line \$2	Line \$3	Line \$5	Line \$10	\$20	2,000	40,000
	TWIST \$10	Line \$5	Line \$10	\$25	4,000	100,000
			TWIST \$30	\$30	1,600	48,000
		4C \$50		\$50	800	40,000
		TWIST \$20	TWIST \$30	\$50	1,840	92,000
			4C \$100	\$100	240	24,000
X \$100				\$100	80	8,000
	4C \$20	4C \$50	TWIST \$30	\$100	824	82,400
		4C \$50	4C \$100	\$150	64	9,600
4C \$10	4C \$20	TWIST \$20		\$150	40	6,000
X \$100	4C \$20	4C \$50	Line \$10	\$180	32	5,760
4C \$10	4C \$20	4C \$50	4C \$100	\$180	24	4,320
	X \$500			\$500	20	10,000
		X \$1,000		\$1,000	16	16,000
			X \$10,000	\$10,000	8	80,000
TOTAL					636,108	\$2,978,280

- (j) The odds of winning a prize in this game are approximately one in 3.77. (Authorized by K.S.A. 2013 Supp. 74-8710, implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)
- **111-4-3349.** "Hit \$1,000!" instant ticket lottery game number 672. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Hit \$1,000!" The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3349.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN

4.4	ELEIDI
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	
	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	FRONE
42	FRTWO
	
Symbol of a star	WIN \$1000
2X (outlined)	WIN2X
3X (outlined)	WIN3X
Prize Symbols	Captions
FREE	\$10TICKET
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$50.00	FIFTY
i i	
\$100 ¢500	HUNDRED
\$500	FIV-HUN
\$1,000	ONE-THO

- (c) For this game, a play/prize symbol shall appear in 55 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) In "Hit \$1,000!" the player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount associated with the "YOUR NUMBER." If the player reveals a "STAR" symbol, the player wins \$1,000 instantly. If the player reveals a "2X" symbol, the player wins double the prize for

that symbol. If the player reveals a "3X" symbol, the player wins triple the prize for that symbol.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
Free \$10 Ticket	Free Ticket	30,000	\$0
\$10	\$10	10,000	100,000
\$20	\$20	2,500	50,000
\$10 + \$10	\$20	7,500	150,000
\$10 (2X)	\$20	20,000	400,000
\$30	\$30	2,500	75,000
\$5 (2X) + \$10 (2X)	\$30	5,000	150,000
\$10 (3X)	\$30	2,500	75,000
\$50	\$50	200	10,000
(\$10 x 5)	\$50	1,600	80,000
\$10 + \$20 (2X)	\$50	1,600	80,000
\$10 (3X) + \$20	\$50	1,600	80,000
\$100	\$100	94	9,400
\$30 (3X) + \$10	\$100	1,100	110,000
\$10 (3X) + \$20 (2X) +			
(\$10 x 3)	\$100	1,100	110,000
\$500	\$500	2	1,000
\$100 (2X) + \$50 (2X) +			
(\$20 x 10)	\$500	8	4,000
(\$20 x 25)	\$500	10	5,000
\$1,000 (STAR)	\$1,000	100	100,000
\$500 (2X)	\$1,000	100	100,000
\$100 (3X) + (\$30 (2X) x 10			
+ \$50 (2X)	\$1,000	200	200,000
TOTAL		87,714	\$1,889,400

(j) The odds of winning a prize in this game are approximately one in 3.42. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3350. "Puzzlers Game Book" instant ticket **lottery game number 590.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Puzzlers Game Book" The rules for this game are contained in K.A.R. 111-3-1 et seg. and 111-4-3350.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Game 1

Play Symbols	Captions
\rightarrow	
\leftarrow	
↔ (outlined)	
(outlined)	
↑	
\downarrow	

Game 2

The "Spelling Bee" call letters are as follows: A - B - C -D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

The "Spelling Bee" words 1-8 letters are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z.

The "Spelling Bee" bonus play symbols are as follows:

Play Symbols	Captions
$10^{.00}$	TEN\$
$20^{.00}$	TWENTY
25.00	TWEN-FIV
$30^{.00}$	THIRTY
$50^{.00}$	FIFTY
MAYBE	NEXT TIME
GOOD	LUCK

Game 3

The "Lucky Lines" play and prize symbols are as follows:

Cambiana

Diary Crombala

Play Symbols	Captions
Symbol of a gold bar	GLDBAR
Symbol of a bunch of cherries	CHERRIES
Symbol of a diamond	DIAMND
Symbol of a heart	HEART
Symbol of a club	CLUB
Symbol of a lady bug	LDYBUG
Symbol of a lime	LIME
Symbol of a gem	GEM
Symbol of a bell	BELL
Symbol of a pear	PEAR
Symbol of a pair of dice	DICE
Symbol of a bunch of grapes	GRAPES
Symbol of a pineapple	PNAPLE
Symbol of a coin	COIN
Symbol of a flower	FLOWER
Symbol of a melon	MELON
Symbol of a crown	CROWN
Symbol of a key	KEY
Symbol of the sun	SUN
Symbol of a star	STAR
Symbol of the moon	MOON
Symbol of a vault	VAULT
Symbol of a wishbone	WSHBONE
Symbol of a plum	PLUM
Symbol of a spade	SPADE
Symbol of a Pot of gold	POT

Prize Symbols	Captions
$5^{.00}$	FIVE\$
$10^{.00}$	TEN\$
$20^{.00}$	TWENTY
$25^{.00}$	TWEN-FIV
$30^{.00}$	THIRTY
$50^{.00}$	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$200	TWO-HUN
\$500	FIVE-HUN
\$1000	ONETHOOU
\$10000	10-THOU
\$100000	100-THOU

The "Mountains of Money" "YOUR NUMBERS" are as follows:

Your Numbers	Captions
01	ONE
	(continued

d)

The "Mountains of Money" 1, 2, and 3 play symbols are

01 - 02 - 03 - 04 - 05 - 06 - 07 - 08 - 09 - 10 - 11 - 12 - 13 -14 - 15 - 16 - 17 - 18 - 19 - 20 - 21 - 22 - 23 - 24 - 25 - 26 -27 - 38 - 29 - 30 - 31 - 32 - 33 - 34 - 35 - 36 - 37 - 38 - 39 -40 - 41 - 42 - 43 - 44 - 45.

The "Bingo Boxes" game caller's and bonus numbers are as follows:

B01	I16	N31	G46	O61	
B02	I17	N32	G47	O62	
B03	I18	N33	G48	O63	
B04	I19	N34	G49	O64	
B05	I20	N35	G50	O65	
B06	I21	N36	G51	O66	
B07	I22	N37	G52	O67	

71 Game 7

61

62

72

63

73

64

74

65

75

The "Rings of Cash" game your numbers are as follows:

66

FREE

67

68

69

70

Your Numbers	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN

11	ELVN	10	TEN
12	TWLV	11	ELVN
13	THRN	12	TWLV
14	FRTN	13	THRN
15	FIFTN	14	FRTN
16	SIXTN	15	FIFTN
17	SEVTN	16	SIXTN
18	EGTN	17	SEVTN
19	NINTN	18	EGTN
20	TWNTY	19	NINTN
21	TWYONE	20	TWNTY
22	TWYTWO	21	TWYONE
23	TWYTHR	22	TWYTWO
24	TWYFOR	23	TWYTHR
25	TWYFIV	24	TWYFOR
26	TWYSIX	25	TWYFIV
27	TWYSEV	26	TWYSIX
28	TWYEGT	27	TWYSEV
29	TWYNIN	28	TWYEGT
30	THRTY	<u>2</u> 9	TWYNIN
31	THRONE	30	THRTY
32	THRTWO	31	THRONE
33	THRTWO	32	THRTWO
34	THRFOR	33	THRTHR
35	THRFIV	34	THRFOR
36	THRSIX	35	THRFIV
37	THRSEV	36	THRSIX
38	THREGT	37	THRSEV
39	THRNIN	38	THREGT
40	FORTY	39	THRNIN
41	FRYONE	40	FORTY
42	FRYTWO	41	FRYONE
43	FRYTHR	42	FRYTWO
44	FRYFOR	43	FRYTHR
45	FRYFIV	44	FRYFOR
46	FRYSIX	45	FRYFIV
47	FRYSEV	46	FRYSIX
48	FRYEGT	47	FRYSEV
49	FRYNIN	48	FRYEGT
50	FIFTY	49	FRYNIN
51	FTYONE		FIFTY
52	FTYTWO	50 51	
53	FTYTHR	51 52	FTYONE
54	FTYFOR	52	FTYTWO
55 55		43	FTYTHR
	FTYFIV	54	FTYFOR
56 57	FTYSIX	55	FTYFIV
57 50	FTYSEV	56	FTYSIX
58	FTYEGT	57	FTYSEV
59	FTYNIN	58	FTYEGT
60	SIXTY	59	FTYNIN
of Cash" 1 - 4	Play symbols are as follows:	60	SIXTY
	-		

The "Rings of Cash" 1 - 4 Play symbols are as follows:

Play Symbols	Captions	The "Rings of Cash" prize sy	ymbols are as follows:
01	ONE	Prize Symbols	Captions
02	TWO	5.00	FIVE\$
03	THR	$10^{.00}$	TEN\$
04	FOR	$20^{.00}$	TWENTY
05	FIV	25.00	TWEN-FIV
06	SIX	30.00	THIRTY
07	SEV	$50^{.00}$	FIFTY
08	EGT	75.00	SVTYFIV
09	NIN		(con

(continued)

\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU

- (c) For this game, play/prize symbols shall appear in multiple play spots within all the play areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.
- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) In game 1, "Money Maze," the player will scratch the square marked "ENTER HERE." The arrow revealed and identified in the game legend will indicate which square is to be scratched next. The player will continue to scratch and follow the arrows until the player exits the maze. If the player exits directly on a prize amount, the player wins that prize.

Game 2, "Spelling Bee," consists of two play areas. In the top half of the ticket, there are eight words covered with transparent latex. In the "CALL LETTERS" play area, located in the middle of the ticket, there are 18 letters located under latex. A player will remove the latex over the "CALL LETTERS." For each letter found in the "CALL LETTERS" area, the player will scratch off any matching letters found in "WORDS 1 through 8." If the player uncovers a complete word, the player wins the prize shown for that word. The following prizes are displayed on the front of the ticket:

WORD #1 \$5 WORD #2 \$10 WORD #3 \$20 WORD #4 \$25 WORD #5 \$50 WORD #6 \$100 WORD #7 \$1,000 WORD #8 \$10,000

In the bonus areas, if the player reveals a prize amount, the player wins that amount.

In game 3, "Lucky Lines," the player will scratch the "YOUR SYMBOLS," and then scratch all of the symbols in "GAMES 1 through 3" which exactly match any of the "YOUR SYMBOLS." If the player matches all symbols on any one horizontal line in any one game, the player wins the corresponding prize for that line.

In game 4, "Mountains of Money," the player will scratch the "YOUR NUMBERS" and then scratch all the numbers in "MOUNTAIN 1, 2, and 3" which exactly match any of the "YOUR NUMBERS." If the player matches all the numbers in any horizontal line in either "MOUNTAIN," the player wins the corresponding prize for that line.

In game 5, "BINGO BOXES," the player will scratch the "CALLERS CARD" and "BONUS NUMBERS" to reveal 30 bingo numbers. The player will scratch the corresponding numbers on "CARDS 1 through 5." If the player completes a horizontal, vertical or diagonal line, all four corners, or an "X" pattern (eight numbers plus FREE space), the player wins the corresponding prize for that card. The "BOX" appears within each of the five bingo cards. The "BOX" consists of four squares and the

"BOX" pattern is highlighted in red. If a player matches all four of the numbers within the "BOX" pattern within a bingo card, the player wins the corresponding "BOX" prize as shown in the prize legend for that bingo card. Only one prize can be claimed per card.

In Game 6, "Lucky 7's Bingo," a player will scratch the "CALLERS CARD" and "BONUS NUMBERS" to reveal 30 bingo numbers. The player will then scratch the corresponding numbers on "CARDS 1 through 5." If the player completes a horizontal, vertical, or diagonal line, all four corners, or an "X" pattern (eight numbers plus FREE space), the player wins the corresponding prize for that card. The "7" pattern appears within each of the five bingo cards. The "7" consists of eight squares plus the free space and the "7" pattern is highlighted in red. If a player matches all eight of the numbers within the "7" pattern within a bingo card, the player wins the corresponding "7" prize as shown in the prize legend for that bingo card. Only one prize can be claimed per card.

In game 7, "Rings of Cash," a player will remove the scratch-off material in the "YOUR NUMBERS" play area to reveal 18 numbers. The player will then scratch the numbers on each of the four "RINGS" that match the "YOUR NUMBERS" exactly. If the player matches all of the numbers in any one "RING," the player wins the prize shown for that "RING." Each "RING" is played separately.

- (g) Each game book may win up to multiple numbers of times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
\$10	\$10	20,000	\$200,000
(\$5 x 2)	\$10	25,000	250,000
\$20	\$20	10,000	200,000
(\$5 x 4)	\$20	12,000	240,000
(\$10 x 2)	\$20	11,000	220,000
$(\$5 \times 2) + \10	\$20	6,000	120,000
\$25	\$25	6,000	150,000
$(\$10 \times 2) + \5	\$25	6,400	160,000
(\$5 x 5)	\$25	3,000	75,000
$(\$5 \times 3) + \10	\$25	3,500	87,500
\$30	\$30	2,000	60,000
\$20 + \$10	\$30	3,450	103,500
(\$10 x 3)	\$30	5,000	150,000
$(\$5 \times 4) + \10	\$30	4,000	120,000
(\$10 x 3)	\$30	3,500	105,000
\$50	\$50	1,500	75,000
(\$10 x 5)	\$50	2,000	100,000
(\$25 x 2)	\$50	2,000	100,000
\$20 + \$25 + \$5	\$50	1,700	85,000
$(\$5 \times 2) + (\$20 \times 2)$	\$50	1,600	80,000
\$75	\$75	1,400	105,000
(\$25 x 3)	\$75	1,500	112,500
$(\$5 \times 3) + (\$10 \times 6)$	\$75	1,500	112,500
$(\$25 \times 2) + (\$10 \times 2) + \$5$	\$75	1,530	114,750
\$100	\$100	300	30,000
$(\$10 \times 4) + (\$20 \times 3)$	\$100	400	40,000
(\$20 x 5)	\$100	400	40,000
(\$50 x 2)	\$100	400	40,000

(\$20 x 5)	\$100	400	40,000
\$200	\$200	200	40,000
$(\$25 \times 4) + (\$20 \times 5)$	\$200	200	40,000
$(\$10 \times 5) + (\$25 \times 4) + \$50$	\$200	200	40,000
$(\$20 \times 5) + (\$50 \times 2)$	\$200	200	40,000
\$500	\$500	50	25,000
(\$100 x 5)	\$500	50	25,000
$(\$50 \times 3) + (\$75 \times 2) +$			
(\$100 x 2)	\$500	100	50,000
$(\$200 \times 2) + (\$50 \times 2)$	\$500	50	25,000
(\$100 x 3) + \$200	\$500	50	25,000
\$1,000	\$1,000	30	30,000
(\$200 x 5)	\$1,000	30	30,000
(\$500 x 2)	\$1,000	35	35,000
$(\$25 \times 4) + (\$50 \times 4) +$			
$(\$100 \times 5) + \200	\$1,000	40	40,000
\$10,000	\$10,000	4	40,000
\$100,000	\$100,000	4	400,000
TOTAL		138,723	\$4,200,750
			, ,,=00,00

(j) The odds of winning a prize in this game are approximately one in 2.16. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3351. "\$100,000 Crossword" instant ticket lottery game number 593. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$100,000 Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3351.

(b) The "play symbols" for this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z - and symbol of a money bag. There are no "play symbol captions" in this game puzzle.

(c) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in each of five play spots within the "BONUS WORD" play area, and a variable number of times within the crossword puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) The "\$100,000 Crossword" game consists of two separate crossword puzzles, with four separate play areas. The play areas include "YOUR LETTERS," "DOUBLER PUZZLE" (Puzzle 1), "MEGA PUZZLE" (Puzzle 2), and a "BONUS WORD." The player will scratch the "YOUR LETTERS" play area to reveal 20 "YOUR LETTERS." The player will then match each "YOUR LETTER" with the corresponding letters in each crossword puzzle and the "BONUS WORD" by removing the translucent scratch-off material covering the matching letter. A player wins according to the prize legend which is printed on the ticket and associated with each crossword puzzle. Each puzzle plays separately.

In the "DOUBLER PUZZLE" (Puzzle 1), if the player scratches three or more completed words, the player wins the corresponding prize in the prize legend. If one of the winning combinations shown in the prize legend has a completed word with a "MONEY BAG" symbol, the player wins double the prize. Only the highest corresponding prize can be won. A player can win once on this puzzle.

In the "MEGA PUZZLE" (Puzzle 2), if a player scratches five or more completed words, the player wins the corresponding prize in the prize legend. Only the highest corresponding prize can be won. A player can win once in this puzzle.

In the "BONUS WORD" play area, if the player completely uncovers the "BONUS WORD" using "YOUR LETTERS," the player wins \$15 instantly.

- (g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
 - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," and be included to form a word; and
- (6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "\$100,000 Crossword."
 - (h) Each ticket in this game may win up to three times.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

Puzzle 1	Puzzle 2	Bonus Word	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 words			\$10	44,000	\$440,000
	5 words		\$10	44,000	440,000
		\$15	\$15	42,000	630,000
4 words			\$20	10,000	200,000
3 words (dbl)			\$20	10,000	200,000
3 words	5 words		\$20	10,000	200,000
5 words			\$25	6,000	150,000
	6 words		\$25	6,000	150,000
3 words		\$15	\$25	6,000	150,000
	5 words	\$15	\$25	6,000	150,000
6 words			\$50	1,000	50,000
4 words (dbl)	5 words		\$50	1,000	50,000
5 words (dbl)			\$50	1,000	50,000
	7 words		\$50	1,000	50,000
5 words	6 words		\$50	1,000	50,000
3 words	6 words	\$15	\$50	900	45,000
5 words	5 words	\$15	\$50	900	45,000
7 words			\$75	450	33,750
	8 words		\$75	450	33,750
6 words	6 words		\$75	450	33,750
5 words	7 words		\$75	450	33,750
8 words			\$100	260	26,000
6 words (dbl)			\$100	260	26,000
	9 words		\$100	260	26,000
6 words	7 words		\$100	260	26,000
3 words	8 words	\$15	\$100	250	25,000
	10 words		\$200	200	40,000
7 words (dbl)	7 words		\$200	200	40,000
8 words (dbl)			\$200	200	40,000
9 words			\$500	120	60,000
	11 words		\$500	120	60,000
9 words (dbl)			\$1,000	28	28,000
	12 words		\$1,000	28	28,000
9 words	11 words		\$1,000	28	28,000
	13 words		\$10,000	6	60,000
					(continued)

dbl - denotes "Money Bag" doubler feature

- (k) The odds of winning a prize in this game are approximately one in 3.08. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)
- **111-4-3352.** "Fast Cash" instant ticket lottery game number 595. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Fast Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3352.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a gold bar	GLDBAR
Symbol of a roll of bills	BILLS
Symbol of a diamond	DIAMND
Symbol of a ring	RING
Symbol of a star	STAR
Symbol of a bell	BELL
Symbol of the moon	MOON
Symbol of a wishbone	WBONE
Symbol of a shamrock	SHROCK
Symbol of the sun	SUN
Šymbol of a key	KEY
Symbol of a seven	SEVEN
Symbol of a heart	HEART
Symbol of a horseshoe	HRSHOE
Symbol of a trophy	TRPHY
Symbol of a flower	FLWER
Symbol of a rabbit foot	RBFOOT
Symbol of a necklace	NCKLCE
Symbol of a compass	COMPAS
Symbol of a treasure chests	TRCHST
Symbol of a pear	PEAR
Symbol of a crown	CROWN
Symbol of a bird	BIRD
Symbol of an apple	APPLE
Symbol of an orange	ORNGE
Symbol of a banana	BANAN
Symbol of a coin	WIN
Symbol of a vault	5TIMES
Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$25^{.00}$	TWEN-FIV
$50^{.00}$	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU

(c) For this game, a play/prize symbol shall appear in 40 play spots within the play area or areas.

25-THOU

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Fast Cash" features a symbol instant win play area. The player will scratch the play area to reveal 20 play symbols and 20 prize amounts. If the player reveals a "COIN" symbol, the player wins the prize shown below that symbol. If the player reveals a "VAULT" symbol, the player wins five times the prize shown for that symbol.
 - (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	60,000	\$0
\$5	\$5	96,000	480,000
\$10	\$10	36,150	361,500
\$5 + \$5	\$10	39,150	391,500
\$15	\$15	14,580	218,700
\$5 + \$10	\$15	16,500	247,500
(\$5 x 3)	\$15	16,500	247,500
\$25	\$25	1,500	37,500
\$10 + \$15	\$25	1,650	41,250
\$5(5X)	\$25	2,400	60,000
(\$5 x 5)	\$25	1,890	47,250
\$50	\$50	450	22,500
(\$5 x 10)	\$50	450	22,500
\$25 + \$5(5X)	\$50	540	27,000
\$10 (5X)	\$50	540	27,000
\$10 + \$25 + \$15	\$50	450	22,500
\$75	\$75	225	16,875
(\$5 x 15)	\$75	300	22,500
\$10 + \$15 + \$25 + \$5(5X)	\$75	300	22,500
(\$5 x 10) + \$10 + \$15	\$75	360	27,000
\$100	\$100	60	6,000
(\$5 x 14) + (\$10 x 3)	\$100	90	9,000
(\$10 x 10)	\$100	60	6,000
(\$5 x 16) + (\$10 x 2)	\$100	90	9,000
\$15(5X) + \$25	\$100	90	9,000
\$500 (#10 - · 10) (#25 - · 4)	\$500	30	15,000
(\$10 x 10) + (\$25 x 4) + (\$50 x 6) (\$10 x 10) + (\$75 x 2) +	\$500	30	15,000
\$50(5X)	\$500	36	18,000
\$1,000	\$1,000	15	15,000
(\$25 x 10) + (\$50 x 5) +	Ψ1,000	15	13,000
(\$100 x 5)	\$1,000	15	15,000
\$500 + \$100(5X)	\$1,000	15	15,000
(\$100 x 10)	\$1,000	15	15,000
\$5,000	\$5,000	9	45,000
$(\$500 \times 6) + (\$1,000 \times 2)$	\$5,000	9	45,000
\$25,000	\$25,000	6	150,000
TOTAL		<u>290,505</u>	\$2,730,075

(j) The odds of winning a prize in this game are approximately one in 3.10. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3353. "Quick Cash" instant ticket lottery game number 597. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Quick Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3353.

\$25000

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THR\$
\$4.00	FOUR\$
\$5.00	FIVE\$
\$6.00	SIX\$
$10^{.00}$	TEN\$
20.00	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN
\$1500	FTN-HUN
\$4000	FORTHOU
2X	DBL

- (c) For this game, a play/prize symbol shall appear in six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Quick Cash" is a match three of six prize amounts game with a doubler feature. The player will scratch the play area to reveal six prize amounts. If the player reveals three like prize amounts, the player wins the prize shown. If the player reveals two like prize amounts and a "2X" symbol, the player wins double that amount.
 - (g) Each ticket in this game may win up to one time.
- (h) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

-	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	160,000	\$0
\$1	\$1	168,000	168,000
\$2	\$2	64,000	128,000
\$1 DBL	\$2	64,000	128,000
\$4	\$4	24,000	96,000
\$2 DBL	\$4	24,000	96,000
\$6	\$6	14,000	84,000
\$3 DBL	\$6	13,360	80,160
\$10	\$10	7,200	72,000
\$5 DBL	\$10	7,200	72,000
\$20	\$20	3,360	67,200
\$10 DBL	\$20	3,360	67,200
\$50	\$50	1,320	66,000
\$25 DBL	\$50	1,320	66,000
\$100	\$100	144	14,400
\$50 DBL	\$100	144	14,400
\$500	\$500	64	32,000
\$1,500	\$1,500	16	24,000
\$4,000	\$4,000	8	32,000
TOTAL		555,496	\$1,307,360

- (j) The odds of winning a prize in this game are approximately one in 4.32. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)
- **111-4-3354.** "Lucky Streak" instant ticket lottery game number 599. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Lucky Streak." The rules for this game are contained in K.A.R. 111-3-1 *et seg.* and 111-4-3354.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Dice 1	ONE
Dice 2	TWO
Dice 3	THR
Dice 4	FOR
Dice 5	FIV
Dice 6	SIX
Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU

- (c) For this game, a play/prize symbol shall appear in 12 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Lucky Streak" is an add-up game. The player will scratch the play area to reveal four "ROLLS." Each "ROLL" features two dice symbols and a prize amount. The player will add the dice in each "ROLL." If the total adds up to "7" or "11," the player wins the prize shown for that "ROLL."
 - (g) Each ticket in this game may win up to four times.
- (h) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
Free Ticket	Free Ticket	160,000	\$0
\$1	\$1	164,000	164,000
\$2	\$2	76,000	152,000
(\$1 x 2)	\$2	76,000	152,000
\$5	\$5	24,000	120,000
$(\$2 \times 2) + \1	\$5	26,400	132,000
\$10	\$10	4,000	40,000
(\$5 x 2)	\$10	4,000	40,000
$(\$2 \times 2) + \$1 + \$5$	\$10	4,000	40,000
			(continued)

¢o.∈	¢0E	12 000	200,000
\$25	\$25	12,000	300,000
$(\$5 \times 3) + \10	\$25	800	20,000
$(\$10 \times 2) + \5	\$25	800	20,000
\$50	\$50	960	48,000
(\$25 x 2)	\$50	960	48,000
\$100	\$100	80	8,000
$($25 \times 4)$	\$100	80	8,000
$($50 \times 2)$	\$100	80	8,000
\$1,000	\$1,000	8	8,000
TOTAL		<u>554,168</u>	<u>\$1,308,000</u>

(j) The odds of winning a prize in this game are approximately one in 4.33. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

111-4-3355. "Cash 2 Go" instant ticket lottery game number 598. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Cash 2 Go." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3355.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a coin	COIN
Šymbol of a bill	BILL
Symbol of a gold bar	GLDBAR
Symbol of a piggy bank	PGYBNK
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RNBOW
Symbol of a purse	PURSE
Symbol of a safe	SAFE
Symbol of a treasure chest	TRCHST
Symbol of a star	STAR
Symbol of the sun	SUN
Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
$10^{.00}$	TEN\$
25.00	TWEN-FIV

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

FIFTY

ONE-HUN

TWOTHOU

- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Cash 2 Go" is a key symbol match game. The player will scratch the play area to reveal one "WINNING SYM-BOL," five "YOUR SYMBOLS," and five prize amounts. If the player matches the "WINNING SYMBOL" to any of the "YOUR SYMBOLS," the player wins the prize shown below that symbol.
 - (g) Each ticket in this game may win up to five times.
- (h) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes

per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
Free Ticket	Free Ticket	160,000	\$0
\$1	\$1	164,000	164,000
\$2	\$2	76,000	152,000
(\$1 x 2)	\$2	76,000	152,000
\$5	\$5	16,800	84,000
$($2 \times 2) + 1	\$5	16,800	84,000
(\$1 x 5)	\$5	17,200	86,000
\$10	\$10	6,400	64,000
(\$5 x 2)	\$10	7,200	72,000
(\$2 x 5)	\$10	7,200	72,000
\$25	\$25	2,800	70,000
$(\$5 \times 3) + \10	\$25	3,200	80,000
$($5 \times 5)$	\$25	3,200	80,000
\$50	\$50	1,040	52,000
$($10 \times 5)$	\$50	1,120	56,000
\$100	\$100	80	8,000
(\$25 x 4)	\$100	80	8,000
$($50 \times 2)$	\$100	80	8,000
\$2,000	\$2,000	8	16,000
TOTAL		559,208	\$1,308,000
			<u>. , ,</u>

(j) The odds of winning a prize in this game are approximately one in 4.29. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-7-14, July 16, 2014.)

Article 5.—MULTI-STATE ONLINE GAMES AND DRAWINGS

111-5-218. Buy \$3 Powerball with power play ticket, get one \$1 2by2 ticket free. During the term of this promotion, for every Kansas Powerball with Power Play single ticket purchase of \$3.00 or more, a player will receive a \$1.00 2by2 quick pick play free. Lottery terminals will automatically dispense a \$1.00 2by2 quick pick play for every \$3.00 Kansas Powerball with Power Play single ticket purchase during the term of this promotion. The retailer clerk shall give the \$1.00 2by2 quick pick free play to the customer who purchased the \$3.00 Powerball with Power Play ticket. The term of this promotion shall begin July 27, 2014, at 5:00 a.m. and will conclude on whatever date and time occurs when 30,000 2by2 quick pick free promotion tickets are generated. (Authorized by and implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-8-7-14, July 16, 2014.)

Article 7.—KANSAS-ONLY ONLINE GAMES

- **111-7-262.** Keno doubler promotion. (a) The Kansas lottery may conduct a Keno promotion entitled "Keno Doubler Promotion" offering Kansas lottery players the opportunity to win double the prize amount won on certain Keno tickets.
- (b) The term of the "Keno Doubler Promotion" shall begin on August 10, 2014, at 5 a.m. and conclude at 2:00 a.m. on August 24, 2014. The term of the "Keno Doubler Promotion" shall mean the time during which qualifying Keno tickets may be purchased by lottery players.

 $50^{.00}$

\$100

\$2000

- (c) A qualifying Keno ticket purchased during the term of the promotion shall be utilized by the player to play a Keno game at a time which is subsequent to purchase of the ticket. Any Keno ticket with multiple draws purchased prior to the term of the promotion shall not be eligible to win a double prize in this promotion. Any Keno ticket with multiple draws purchased before the end of the promotion term with draws after the promotion ended will still be eligible to win a double prize in this promotion.
- (d) Keno tickets eligible to win double a prize amount during "Keno Doubler Promotion" and according to the terms of the promotion shall be offered for sale at any Kansas lottery retail selling location which offers the Kansas lottery Keno product to its players.
- (e) On every twentieth Keno ticket sold statewide during the promotion which is eligible to win a double prize amount, a qualifying message shall be printed on the ticket front. The qualifying message printed on the ticket front shall read, "Congratulations! Any prizes won on this ticket will be doubled! Good luck! Some exclusions apply."
- (f) Keno tickets that shall be excluded from printing a qualifying message and winning a double prize amount during the promotion are: progressive jackpot game on 6 of 6-spot Keno, progressive jackpot game on 7 of 7-spot Keno, 8 of 8-spot Keno, 10 of 10-spot Keno, and any Keno ticket included in the 6-pack sampler Keno ticket package.
- (g) Any prize amount won on a qualifying doubler Keno ticket which is sold during the term of the promotion shall be double the prize amount normally won for the game played.
- (h) Only Kansas lottery Keno tickets purchased by a player during the term of the promotion which contain a qualifying printed message on the ticket front as specified in subsection (e) and which are not excluded from the promotion as provided in these rules shall be eligible to win double the prize amount won for a qualifying Keno game.
- (i) Keno tickets sold by lottery retailers that are eligible to win a double prize amount during this promotion shall not be eligible to be cancelled after the ticket is printed by a Kansas lottery retailer. (Authorized by and implementing 2013 Supp. K.S.A. 74-8710; effective, T-111-8-7-14, July 16, 2014.)

Article 17.—SPECIFIC ONLINE DRAWING RULES

- **111-17-15.** Ultimate Chiefs experience second-chance drawing. (a) The Kansas lottery shall conduct a second-chance online event drawing entitled "Ultimate Chiefs Experience Second-Chance Drawing." The Kansas lottery will accept online entries into the drawing beginning at midnight July 2, 2014, and ending at noon on February 3, 2015. The drawing will be announced with at least 24 hours advanced notice via the lottery's website, and other social media forums such as Facebook and Twitter. The drawing will be conducted sometime after entry into the drawing has closed, but before noon on February 6, 2015.
- (b) The specific ticket eligible for entry into this secondchance online event drawing shall be the \$5 Kansas City Chiefs, game number 491.

- (c) The Kansas lottery shall award five grand prize packages to players who entered the "Ultimate Chiefs Experience Second-Chance Drawing" using the \$5 Kansas lottery instant ticket named Kansas City Chiefs, game number 491. Each prize package shall consist of access to a 2015-2016 Kansas City Chiefs season suite for one winner and three guests for one game of the Lottery's choosing, and unlimited food and non-alcoholic beverages. Each suite guest will receive a gift bag with a \$25 stadium gift card, a Chiefs cheerleader calendar, a Chiefs hat, a Chiefs 2015 yearbook, and other lottery/Chiefs products possible. A drawing in the suite will be held for attending winners and their guests to win autographed merchandise. The game or games at which the events included in the grand prize package shall occur will be determined by the executive director of the Kansas lottery and representative(s) of the Kansas City Chiefs. Each grand prize is valued at approximately \$9,514.29.
- (d) There will be one drawing held to select winners of the grand prizes. The drawing shall select 15 entrants. The first five entrants drawn in this drawing shall be awarded a grand prize identified in subsection (c). The next 10 entrants drawn in this drawing (identified as numbers 6 through 15) will be used as alternate winners, if necessary, in the order drawn.
- (e) A winner of a grand prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.
- (f) A winner shall be sent a claim form via U. S. mail at the time the winner is notified he or she has won a prize.
- (g) A player who is among the first five winners selected in this drawing to receive a grand prize must return his or her completed claim form and must be received by the Kansas lottery within 14 days following the date of the online event drawing. Alternatively, a player who is among the entrants selected as alternate winners in this drawing to receive a grand prize and as identified in subsection (d) must return his or her completed claim form within 14 days following the date the alternate winner was sent a claim form via U. S. mail.
- (h) Completed claim forms can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603, or the winners can deliver the completed claim form by hand to the Kansas lottery claims center in Topeka, Kansas during the claim center's normal business hours.
- (i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner's notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.
- (j) Each person who enters a lottery Kansas City Chiefs ticket, game number 491, agrees to release Kansas City Chiefs Football Club, Inc., its parent and affiliated companies, the Kansas lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawing or with acceptance and use of any prize.

(continued)

- (k) In the event any football game in the grand prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.
- (l) Any player entering the Ultimate Chiefs Experience Second-Chance Drawing agrees to public disclosure.
- (m) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.
- (n) Rules applicable to this online event drawing are contained in K.A.R. 111-17-15 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-6-30-14, June 11, 2014; amended, T-111-8-7-14, July 16, 2014.)

Article 301.—SPECIFIC LOTTERY FACILITY GAMES AT LOTTERY GAMING FACILITIES

- **111-301-17.** Wagers. (a) All wagers at Let It Ride shall be made by placing gaming chips and, if applicable, a match play coupon on the appropriate betting areas of the table layout. A verbal wager accompanied by cash shall not be accepted.
- (b) Only players who are seated at the Let It Ride table may touch the cards. Once a player has placed a wager and received cards, that player must remain seated until the completion of the round of play.
- (c) All ante wagers at Let It Ride shall be placed prior to the dealer dealing the first card. No wager at Let It Ride shall be made, increased or withdrawn after the dealer has dealt the first card.
- (d) At the beginning of each round of play, each player shall be required to place three equal but separate wagers. The wagers shall be identified as bet number 1, bet number 2 and bet number 3 (which betting position may also be designated by the symbol "\$"). Bet number 1 and bet number 2 may subsequently be removed by the player in accordance with K.A.R. 111-301-18, play rules.
- (e) A Lottery Gaming Facility Manager may, in its discretion, permit a player to place wagers at two betting positions during a round of play provided that the two betting positions are adjacent to each other.
- (f) After each round of play is complete, the dealer shall collect all losing wagers and pay off all winning wagers in accordance with the payout table. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-12-29-10, Dec. 9, 2010; amended, T-111-8-7-14, July 16, 2014.)
- **111-301-18.** Play. (a) The starting position for the dealing of cards or the delivery of stacks of cards for the game of Let It Ride may be determined in the following manners:
- (b) The dealer shall deal three cards to each player starting with the player farthest to his/her left, face down in a clockwise manner. The dealer shall then burn one card, then deal two cards face down to the dealer, which cards are known as the community cards.
- (c) After each player has examined his or her cards, the dealer shall, beginning with the player farthest to the dealer's left and moving clockwise around the table, ask

- each player if he or she wishes to withdraw bet number 1 or let it ride.
- (1) If a player chooses to let bet number 1 ride, that bet shall remain on the appropriate betting area of the layout until the end of the round of play.
- (2) If a player chooses to withdraw bet number 1, the dealer shall move the gaming chips on the betting area designated for bet number 1 toward the player who shall then immediately remove the gaming chips from the betting area.
- (d) After each player has made a decision regarding bet number 1, the dealer shall then reveal the first community card.
- (e) After the first community card is exposed, the dealer shall, beginning with the player farthest to the dealer's left and moving clockwise around the table, ask each player if he or she wishes to withdraw bet number 2 or let it ride. This decision shall be made by each player regardless of the decision made concerning bet number 1
- (1) If a player chooses to let bet number 2 ride, that bet shall remain on the appropriate betting area of the layout until the end of the round of play.
- (2) If a player chooses to withdraw bet number 2, the dealer shall move the gaming chips on the betting area designated for bet number 2 toward the player who shall then immediately remove the gaming chips from the betting area.
- (f) After each player has made a decision regarding bet number two, each player's cards shall be placed face down on the appropriate area of the layout, the player shall not touch the cards again.
- (g) The dealer shall then reveal the second community card.
- (h) After the second community card is turned face up, the dealer shall, beginning with the player farthest to his or her right and continuing around the table in a counterclockwise direction, complete the following applicable procedures in succession for each player.
- (1) The dealer shall turn the three cards of the player face up. The two community cards and the three cards dealt to the player shall form the five card poker hand of that player.
- (2) The dealer shall examine the cards of the player to determine if the player's hand qualifies for a payout pursuant to the approved payout table. Any let it ride poker wager on a hand which has a rank that is lower than a pair of tens shall be a losing wager.
- (3) The dealer shall then settle all wagers of that player. All losing wagers by the player shall be immediately collected by the dealer and placed in the table inventory container. After all losing wagers have been collected; all winning wagers shall be paid in accordance with the payout odds.
- (4) All hands shall remain face up on the layout until all wagers have been settled by the dealer.
- (i) After settling all wagers, the dealer shall immediately collect the cards of all players and the community cards and places them in the discard rack. All cards collected by the dealer shall be picked up in order and placed in the discard rack in such a way that they can be readily arranged to reconstruct each hand in the event of

a question or dispute. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-12-29-10, Dec. 9, 2010; amended, T-111-8-7-14, July 16, 2014.)

- **111-301-19.** Payout odds. (a) For a winning hand, bet number 1, bet number 2, and bet number 3 are paid the same payout odds ranging from 1 to 1 for a pair of 10's or better to 500 to 1 for a royal flush.
- (b) All winning wagers will receive the following payout odds:

Odds
500 to 1
200 to 1
50 to 1
11 to 1
8 to 1
5 to 1
3 to 1
2 to 1
1 to 1

(Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-12-29-10, Dec. 9, 2010; amended, T-111-8-7-14, July 16, 2014.)

- **111-301-45.** Dead man's hand optional blackjack wager. (a) On or after August 1, 2014, Boot Hill Casino & Resort may offer an optional "Dead Man's Hand" wager at any table offering the game of blackjack, as set forth in the rules herein. Except as otherwise set forth in the rules herein, all rules of the game of blackjack shall remain unaltered and any optional Dead Man's Hand wager made shall not affect any other blackjack wager.
- (b) The Dead Man's Hand optional wager shall be played following the rules of the game of blackjack except as follows:
- (1) A player may not place a Dead Man's Hand wager unless the player has also placed at least the minimum blackjack wager required at that blackjack table.
- (2) Blackjack tables where the optional Dead Man's Hand wager is available shall have a spot designated on the table game layout where the wager can be placed.
- (3) At the option of Boot Hill Casino & Resort, the game shall be played using one, two, five, six or eight standard 52-card decks of playing cards.
- (4) At the same time a player makes his or her standard blackjack wager, the player has an opportunity to make the optional Dead Man's Hand wager in even dollar amounts. The minimum and maximum amounts of the Dead Man's Hand wager permitted shall be posted on the table signage and cannot be more than the maximum original blackjack wager.
- (5) If the player is playing more than one hand, the same number of Dead Man's Hand wagers can be made.
- (6) Players that have made the Dead Man's Hand wager and are not dealt at least one ace or one eight on his or her first two cards in each hand will lose his or her Dead Man's Hand wager.
- (7) Players who make the optional Dead Man's Hand wager will win and be paid according to the pay table set forth hereinafter if:

- (A) one of his or her first two cards dealt is an ace or an eight;
- (B) his or her first two cards are an ace and an eight; or,
- (C) his or her first two cards are two aces or two eights and the dealer has a blackjack.
- (8) Players who have been dealt a pair of aces or a pair of eights can choose to split his or her hands. No additional Dead Man's Hand wager is required to split these hands. Splitting pairs will be handled as follows:
- (A) Except as otherwise stated in these rules, the standard rules of the game of blackjack will apply to splitting pairs;
- (B) Players may split pairs up to three times for a maximum of four hands;
- (C) If a player splits a pair and then receives cards that bust the hand (results in a sum exceeding 21), the dealer will remove the cards that busted the hand and leave the initial aces or eights on the game table in a horizontal position. Once the player has completed taking cards, the dealer will calculate the winning pay out according to the pay table and pay the player accordingly;
- (D) Players will be paid for the number of aces and/or eights they have been dealt when all splitting is done;
- (E) If the player splits but does not receive any additional aces or eights, they will be paid for his or her initial pair of aces or eights according to the pay table;
- (F) The objective of the game is to be dealt four sets of aces and/or eights after the player has split his or her initial pair of aces or eights;
- (G) Players who split a pair of eights must clearly indicate on which hand they want to take an additional card or cards;
- (H) Players who split eights up to three times under house rules allowing the splitting of aces only once will be paid for any two hands with an ace and an eight. Three or more hands with an ace and eight will not increase the payout; and,
 - (G) The game then continues to the next player.
- (9) Players who make the Dead Man's Hand wager and are dealt a pair of aces or a pair of eights may choose not to split his or her pair and complete his or her hand according to his or her preference.
- (10) In those instances when the dealer's card dealt face up is an ace, the procedure shall be as follows:
- (A) Per standard rules of blackjack the dealer will offer all players the right to place an insurance wager;
- (B) Per standard rules of blackjack the dealer will then check if he or she has a blackjack. If the dealer has a blackjack the dealer will collect all losing blackjack wagers from right to left;
- (C) Per standard rules of blackjack the dealer will payout any winning insurance wagers; and,
- (D) Starting from the dealer's right to left, the dealer shall then collect all losing Dead Man's Hand wagers and pay all winning Dead Man's Hand wagers according to the pay table, below.
- (11) In those instances where the dealer's card dealt face up has a value of ten (10), the procedure shall be as follows:

(continued)

- (A) The dealer shall check to see if he or she has a blackjack. If the dealer does have a blackjack, the dealer will collect all losing blackjack wagers and all losing Dead Man's Hand wagers;
- (B) Starting from the dealer's right to left, the dealer will then pay all winning Dead Man's Hand wagers according to the pay table, below; and,
- (C) If the dealer does not have a blackjack, the game resumes per the standard rules of the game of blackjack.
- (12) The pay table of payout odds for the Dead Man's Hand optional wager is as follows (only the highest payout for which the hand is eligible shall be paid):

Two aces and two 8's - Pays 50 to 1

Two 8's - Pays 4 to 1

Two aces or two 8's with only an ace and 8 remaining after split - Pays 4 to 1

Two aces or two 8's with no split — Pays 4 to 1

Any ace or 8 dealt in the player's first two cards — Pays 2 to 1

Two aces or two 8's and the dealer has a blackjack — Pays 50 to 1

(13) Optional toke wagers (dealer gratuities) may be placed on Dead Man's Hand wagers at the same time as the Dead Man's Hand wager is placed, and if placed shall also be paid or taken at the same time as the player's Dead Man's Hand wager is paid or taken and shall be paid at the same odds as the player's winning Dead Man's Hand wager. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-8-7-14, July 16, 2014.)

111-301-46. IN BETween optional blackjack wager. (a) On or after August 1, 2014, Boot Hill Casino & Resort may offer an optional "IN BETween" wager at any table offering the game of blackjack, as set forth in the rules herein.

- (b) Except as otherwise set forth in the rules herein, all rules of the game of blackjack shall remain unaltered and any optional IN BETween wager made shall not affect any other blackjack wager.
- (c) Blackjack tables where the optional IN BETween wager is available shall have a spot designated on the table game layout where the wager can be placed.
- (d) A player may not place an IN BETween wager unless the player has also placed at least the minimum blackjack wager required at that blackjack table.
- (e) All IN BETween wagers shall be made at the same time as that player's blackjack wager and shall be no less than the minimum, and no more than the maximum, wager stated at the blackjack table for IN BETween.
- (f) IN BETween wagers apply only to the first two cards dealt to a player and the card that is dealt face up to the dealer.
- (g) An IN BETween wager shall win if the dealer's card that is dealt face up is of a rank falling between the rank of the player's first two cards, and shall lose if it does not, when using the following order of rank: 2, 3, 4, 5, 6, 7, 8, 9, 10, jack, queen, king, and ace, except that an IN BETween wager shall also win if the player's first two cards and the dealer's card that is dealt face up are all of the same identical rank.

- (h) Winning combinations and payout odds for IN BETween wagers are as follows:
- (1) Winning wagers with a "one card spread" shall be paid at the rate of ten (10) to one (1). A "one card spread" occurs when the dealer's card dealt face up is one rank higher than one of the player's initial two cards and one rank lower than the other of the player's first two cards (by way of example only, the dealer's card dealt face up is an "8" and the player's initial two cards are a "7" and a "9");
- (2) Winning wagers with a "two card spread" shall be paid at the rate of five (5) to one (1). A "two card spread" means when in order of rank there are two card ranks between the player's initial two cards, and the dealer's card dealt face up is equal to of one of those two ranks (by way of example only, the dealer's card dealt face up is an "8" and the player's initial two cards are a "6" and a "9");
- (3) Winning wagers with a "three card spread" shall be paid at the rate of three (3) to 1. A "three card spread" means when in order of rank there are three card ranks between the player's initial two cards, and the dealer's card dealt face up is equal to one of those three ranks (by way of example only, the dealer's card dealt face up is an "8" and the player's initial two cards are a "5" and a "9");
- (4) Winning wagers with a "three of a kind" shall be paid at the rate of thirty (30) to one (1). A "three of a kind" occurs when the dealer's card dealt face up and the player's first two cards are of the same identical rank; and,
- (5) All other winning IN BETween wagers are paid at the rate of one (1) to one (1).
- (i) All IN BETween wagers shall be paid or taken and removed from the betting area immediately after the second of each player's and the dealer's two cards have been dealt and before the blackjack hand is played. All IN BETween wagers shall be paid or taken in order of the players at the table from the dealer's right to left.
- (j) Optional toke wagers (dealer gratuities) may be placed on IN BETween wagers, which if placed shall also be paid or taken at the same time as the player's IN BETween wager is paid or taken.
- (k) All blackjack insurance wagers, if any, will be paid or taken after the IN BETween wager is paid or taken. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-8-7-14, July 16, 2014.)

Article 401.—NORTHEAST GAMING ZONE

- **111-401-195.** Name of the game; rules and regulations. (a) The Kansas lottery shall conduct a lottery facility game at the Hollywood Casino at Kansas Speedway in Kansas City, Kansas, entitled "Running it Twice" beginning on or after August 1, 2014.
- (b) Running it Twice is an optional game that may be played during any poker game specifically designated by Hollywood Casino at Kansas Speedway with the following conditions:
- (1) the final card(s) to the player(s) or the community cards for that hand, as applicable to the poker game being played, have not yet been dealt;

- (2) only two players remain in the game competing against each other;
- (3) one of the two players has made an all-in bet (has bet all of his or her remaining chips) and the other player has matched the all-in bet; and,
- (4) both players agree to play the Running it Twice optional game and timely communicate that agreement to the dealer.
- (c) If all conditions for Running it Twice are met, dealing of the remaining cards shall proceed as follows:
- (1) The dealer shall deal the remaining cards for that hand pursuant to the normal rules for that game; and,
- (2) The dealer shall then slide those remaining cards for that hand upward on the table playing surface leaving them face up, and then in the space vacated by those cards shall deal a second set of remaining cards for that hand in the same way the remaining cards for that hand are dealt pursuant to the normal rules for that game, thereby creating a second set of final cards for the hand.
- (d) If one player has the best hand regardless of which of the two sets of cards are used to complete his or her

hand, that player is awarded the entire pot. If one player has the best hand using one set of cards and the other player has the best hand using the other set of cards, the pot is split into two equal halves and one half is awarded to each player.

- (e) The two players shall also have the option to split the pot into three equal portions. In that event all rules for Running it Twice set forth hereinabove apply except that instead of dealing two separate hands and creating two evenly divided pots, three separate hands shall be dealt and the pot shall be evenly divided into three parts.
- (f) If this optional game is being played in any poker game where the house rakes the pot, the pot will be raked twice in the event two pots are created and three times in the event three pots are created. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-8-7-14, July 16, 2014.)

Reg. No.

Terry Presta **Executive Director**

Register

Doc. No. 042807

Register

Register

V. 32, p. 148

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2013 Supplement of the Kansas Administrative Regulations.

AGENCY 4: DEPARTMENT OF AGRICULTURE

	HOMECETCKE	
Reg. No.	Action	Register
4-16-1a	Amended	V. 32, p. 408
4-16-1c	Amended	V. 32, p. 409
4-16-7a	Amended	V. 32, p. 410
4-16-306	New	V. 32, p. 410
4-17-1a	Revoked	V. 32, p. 411
4-17-1c	Revoked	V. 32, p. 411
4-17-300	Revoked	V. 32, p. 411
4-17-302		
through		
4-17-305	Revoked	V. 32, p. 411
4-28-2	Amended	V. 32, p. 349
4-28-6	Amended	V. 32, p. 499
4-28-8	Amended	V. 32, p. 349
4-28-9		
through		
4-28-16	Revoked	V. 32, p. 349
4-28-33	New	V. 32, p. 499
4-28-34	New	V. 32, p. 500

AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-7-1	Amended	V. 33, p. 325
5-7-4	Amended	V. 33, p. 325
5-7-4b	New	V. 33, p. 326
5-16-1	Amended	V. 32, p. 566
5-16-2	Revoked	V. 32, p. 566
5-16-3	Amended	V. 32, p. 566
5-16-4	Amended	V. 32, p. 567
5-16-5	Revoked	V. 32, p. 567
5-16-6	Amended	V. 32, p. 567
5-16-7	Amended	V. 32. p. 567

AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH Reg. No. Action Register

Action

Action

Amended

Reg. No.

Reg. No.

14-13-1

16-8-1

11-12-1

9-7-4	Amended	V. 32, p. 1170			
AGENCY 10: KANSAS BUREAU OF INVESTIGATION					
Reg. No.	Action	Register			
10-10-2	Amended	V. 32, p. 960			
10-10-5	New	V. 32, p. 960			
10-10-5	Amended (T)	V. 33, p. 627			
AGENCY 11: DEPARTMENT OF					
AGRICULTURE—DIVISION OF					
	CONSERVA	TION			

through 11-12-7 Amended V. 32, p. 501-503 AGENCY 14: DEPARTMENT OF REVENUE— DIVISION OF ALCOHOLIC BEVERAGE CONTROL

14-13-2	Amended	V. 32, p. 149
14-13-3	Revoked	V. 32, p. 150
14-13-4		-
through		
14-13-10	Amended	V. 32, p. 150, 151
14-13-11	Revoked	V. 32, p. 152
14-13-13	Amended	V. 32, p. 152
14-13-15	Amended	V. 32, p. 153
14-13-16	New	V. 32, p. 407
14-13-17	New	V. 32, p. 408
14-13-18	New	V. 32, p. 408
ACE	NCV 16. ATTO	RNEV CENERAL

Reg. No. Action Register

through 16-8-7 16-8-1 through	New (T)	V. 32, p. 864-866
16-8-7	New	V. 32, p. 1238-1240
16-11-7	Amended	V. 32, p. 1289
16-11-7	Amended (T)	V. 33, p. 730
16-13-1	New (T)	V. 33, p. 731

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

Reg. No.	Action	Register
17-11-18 17-11-21	Amended Amended	V. 33, p. 68 V. 33, p. 68

AGENCY 20: CRIME VICTIMS COMPENSATION BOARD

Action

-		-
20-1-1	Amended	V. 32, p. 1528
20-1-2	Revoked	V. 32, p. 1528
20-2-1	Revoked	V. 32, p. 1528
20-2-2	Amended	V. 32, p. 1528
20-2-3	Amended	V. 32, p. 1529
20-2-4	Revoked	V. 32, p. 1529
20-2-7	Amended	V. 32, p. 1529
20-2-8	Amended	V. 32, p. 1529
20-2-9	Amended	V. 32, p. 1530
20-6-1	Revoked	V. 32, p. 1530
20-15-1	Revoked	V. 32, p. 1530
20-15-2	Revoked	V. 32, p. 1530

AGENCY 22: STATE FIRE MARSHAL Reg. No. Action Register

_		•
22-4-2	Revoked	V. 32, p. 1217
22-4-3	Revoked	V. 32, p. 1217
22-4-4	Revoked	V. 32, p. 1217
22-4-5	New (T)	V. 32, p. 859
22-4-5	New	V. 32, p. 1217
22-8-4	Revoked	V. 33, p. 371
22-8-7	Revoked	V. 33, p. 371
22-8-11	Amended	V. 33, p. 371
22-8-12	Amended	V 33 n 371

AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICES

Reg. No.	Action	Register
26-39-100	Amended (T)	V. 32, p. 867
26-39-100	Amended	V. 32, p. 1241
26-50-10	New (T)	V. 32, p. 870
26-50-10	New	V. 32, p. 1244
26-50-12	New (T)	V. 32, p. 871
26-50-12	New	V. 32, p. 1244
26-50-20	New (T)	V. 32, p. 871
26-50-20	New	V. 32, p. 1244
26-50-22	New (T)	V. 32, p. 871
26-50-22	New	V. 32, p. 1245
26-50-24	New (T)	V. 32, p. 872
26-50-24	New	V. 32, p. 1246
26-50-26	New (T)	V. 32, p. 873
26-50-26	New	V. 32, p. 1246
26-50-30	New (T)	V. 32, p. 873
26-50-30	New	V. 32, p. 1247
26-50-32	New (T)	V. 32, p. 874
26-50-32	New	V. 32, p. 1247
26-50-34	New (T)	V. 32, p. 874
26-50-34	New	V. 32, p. 1248
26-50-36	New (T)	V. 32, p. 874

(continued)

26-50-36	New	V. 32, p. 1248	30-6-81	Revoked	V. 33, p. 143	AGE	NCY 60: BOARD (OF NURSING
26-50-38	New (T)	V. 32, p. 875	30-6-82	Revoked (T)	V. 32, p. 1377	Reg. No.	Action	Register
26-50-38	New	V. 32, p. 1248	30-6-82	Revoked	V. 33, p. 143	60-4-101	Amended	V. 33, p. 580
26-50-40	New (T)	V. 32, p. 875	30-6-85			60-8-101	Amended	V. 33, p. 580 V. 33, p. 580
26-50-40	New	V. 32, p. 1249	through 30-6-89	Revoked (T)	V. 32, p. 1377	60-9-105	Amended	V. 32, p. 411
AGENC		ENT OF HEALTH	30-6-85	Revoked (1)	v. 32, p. 1377	60-9-106	Amended	V. 32, p. 412
B 17	AND ENVIRO		through			60-9-107 60-11-119	Amended Amended	V. 32, p. 413 V. 33, p. 580
Reg. No.	Action	Register	30-6-89	Revoked	V. 33, p. 143	60-12-106	Amended	V. 33, p. 380 V. 32, p. 414
28-1-23	New	V. 33, p. 309	30-6-91	Revoked (T)	V. 32, p. 1377	60-13-101	Amended	V. 33, p. 580
28-4-550 28-4-552	Amended Revoked	V. 33, p. 200	30-6-91 30-6-94	Revoked Revoked (T)	V. 33, p. 143 V. 32, p. 1377	60-16-102	Amended	V. 32, p. 1216
28-4-556	Revoked	V. 33, p. 202 V. 33, p. 202	30-6-94	Revoked	V. 33, p. 143		AGENCY 66: BO	
28-4-564	Amended	V. 33, p. 202	30-6-95	Revoked (T)	V. 32, p. 1377	T1	ECHNICAL PROF	FESSIONS
28-4-565	Amended	V. 33, p. 203	30-6-95	Revoked	V. 33, p. 143	Reg. No.	Action	Register
28-4-568	Amended	V. 33, p. 203	30-6-103 30-6-103	Revoked (T) Revoked	V. 32, p. 1377 V. 33, p. 144	66-6-1	Amended (T)	V. 33, p. 627
28-4-569 28-4-573	Amended Amended	V. 33, p. 204	30-6-103	Revokeu	v. 55, p. 144	66-6-4	Amended (T)	V. 33, p. 628
28-4-801	Amended	V. 33, p. 204 V. 32, p. 1026	through			66-8-3 66-8-6	Amended Amended	V. 32, p. 1488 V. 32, p. 1488
28-4-814	Amended	V. 32, p. 1027	30-6-113	Revoked (T)	V. 32, p. 1378, 1379	66-8-7	Amended (T)	V. 33, p. 629
28-4-816	Amended	V. 32, p. 1028	30-6-106			66-9-6	Amended (T)	V. 33, p. 629
28-4-820	Amended	V. 32, p. 1029	through 30-6-113	Revoked	V. 33, p. 144, 145	66-9-7	Amended	V. 32, p. 1488
28-4-821 28-4-1250	Amended	V. 32, p. 1030	30-6-120	Revoked (T)	V. 33, p. 144, 143 V. 32, p. 1379	66-10-1 66-10-3	Amended Amended	V. 32, p. 1489 V. 32, p. 1489
through			30-6-120	Revoked	V. 33, p. 145	66-10-9	Amended	V. 32, p. 1489 V. 32, p. 1489
28-4-1269	New (T)	V. 33, p. 8-24	30-6-140	Revoked (T)	V. 32, p. 1379	66-10-13	Amended	V. 32, p. 1489
28-4-1250	(-)	, ,	30-6-140	Revoked	V. 33, p. 145	66-10-13	Amended (T)	V. 33, p. 629
through			30-6-150 30-6-150	Revoked (T)	V. 32, p. 1379	66-10-14	Amended	V. 32, p. 1490
28-4-1269	New	V. 33, p. 262-278	30-14-1	Revoked Revoked (T)	V. 33, p. 145 V. 32, p. 1379	66-10-14 66-11-1	Amended (T) Amended	V. 33, p. 629 V. 32, p. 1490
28-14-1 28-14-2	Amended	V. 33, p. 518	30-14-1	Revoked	V. 33, p. 145	66-11-1a	Amended (T)	V. 33, p. 630
28-14-2 28-16-28g	Amended Amended	V. 33, p. 518 V. 33, p. 643	30-14-2	Revoked (T)	V. 32, p. 1379	66-11-2	Revoked	V. 32, p. 1490
28-29-109	Amended	V. 32, p. 938	30-14-2	Revoked	V. 33, p. 145	66-11-4	Amended (T)	V. 33, p. 630
28-29-1600		**	30-14-3	Revoked (T)	V. 32, p. 1379	66-12-1	Amended (T)	V. 33, p. 630
through			30-14-3 30-14-20	Revoked Revoked (T)	V. 33, p. 145 V. 32, p. 1379	66-14-1	Amended	V. 32, p. 1490
28-29-1608	New	V. 32, p. 1194-1199	30-14-20	Revoked	V. 33, p. 145		CY 68: BOARD O	
28-30-2 through			30-14-21	Revoked (T)	V. 32, p. 1379	Reg. No.	Action	Register
28-30-6	Amended	V. 32, p. 522-525	30-14-21	Revoked	V. 33, p. 145	68-11-1	Amended	V. 33, p. 493
28-31-260b	New	V. 32, p. 415	30-14-23			68-11-2 68-21-1	Amended Amended	V. 33, p. 493 V. 33, p. 493
28-31-268	Amended	V. 32, p. 416	through 30-14-26	Revoked (T)	V. 32, p. 1379	68-21-2	Amended	V. 33, p. 494
28-32-13	Amended	V. 32, p. 208	30-14-23	Revoked (1)	v. 32, p. 1377		Y 69: BOARD OF	-
28-35-147a 28-39-164	Amended	V. 32, p. 260	through			Reg. No.	Action	Register
through			30-14-26	Revoked	V. 33, p. 145	=		· ·
28-39-168	Revoked (T)	V. 32, p. 876	30-14-28			69-3-27 69-3-29	Amended New	V. 33, p. 108 V. 33, p. 108
28-39-169a	Revoked (T)	V. 32, p. 876	through 30-14-31	Revoked (T)	V. 32, p. 1379	69-11-1	Amended	V. 33, p. 108
28-39-169b	Revoked (T)	V. 32, p. 876	30-14-28	nevokea (1)	1. 02, p. 1079	69-11-2	Amended	V. 33, p. 108
28-39-169c	Revoked (T)	V. 32, p. 876	through			69-12-5	Amended	V. 33, p. 108
AGENCY 3		NT FOR CHILDREN	30-14-31	Revoked	V. 33, p. 145	69-15-1 69-15-3	Amended Amended	V. 33, p. 517 V. 33, p. 108
	AND FAM		30-14-50 30-14-50	Revoked (T) Revoked	V. 32, p. 1380	69-15-4	Amended	V. 33, p. 100 V. 33, p. 109
Reg. No.	Action	Register	30-14-30		V. 33, p. 145			
30-6-34	Revoked (T)		ACE		C INICIID ANCE	69-15-5	Amended	V. 33, p. 109
30-6-34	. ,	V. 32, p. 1376	AGE		S INSURANCE	69-15-7	Amended	V. 33, p. 109 V. 33, p. 109
	Revoked	V. 33, p. 142		DEPARTM	ENT	69-15-7 69-15-12		V. 33, p. 109 V. 33, p. 109
30-6-35	Revoked (T)	V. 33, p. 142 V. 32, p. 1376	Reg. No.	DEPARTM Action	ENT Register	69-15-7 69-15-12 through	Amended	V. 33, p. 109
30-6-35 30-6-35	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20	DEPARTM Action Amended	Register V. 32, p. 183	69-15-7 69-15-12		V. 33, p. 109 V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111
30-6-35	Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20 40-1-28	DEPARTM Action Amended Amended	Register V. 32, p. 183 V. 33, p. 68	69-15-7 69-15-12 through 69-15-15	Amended Amended	V. 33, p. 109 V. 33, p. 109-111
30-6-35 30-6-35 30-6-36	Revoked Revoked (T) Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20	DEPARTM Action Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30	Amended Amended Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a	DEPARTM Action Amended Amended Amended	Register V. 32, p. 183 V. 33, p. 68	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO	Amended Amended Amended Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518
30-6-35 30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59	DEPARTM Action Amended Amended Amended Amended Amended New	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No.	Amended Amended Amended Amended EY 71: KANSAS D Action	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register
30-6-35 30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-40	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 32, p. 142 V. 32, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1	DEPARTM Action Amended Amended Amended Amended Amended New New	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 33, p. 183 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO	Amended Amended Amended Amended CY 71: KANSAS D	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD
30-6-35 30-6-35 30-6-36 30-6-39 30-6-39 30-6-40 30-6-40 30-6-41	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2	DEPARTM Action Amended Amended Amended Amended Amended New New New	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 32, p. 68 V. 32, p. 68 V. 33, p. 69 V. 33, p. 69	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492
30-6-35 30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-40	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 32, p. 142 V. 32, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2	DEPARTM Action Amended Amended Amended Amended Amended New New New New SENCY 44: DEPA	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENO	Amended Amended Amended CY 71: KANSAS D Action Amended Amended Amended Y 74: BOARD OF A	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2	DEPARTM Action Amended Amended Amended Amended Amended New New New New CENCY 44: DEPA	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENO Reg. No.	Amended Amended Amended CY 71: KANSAS D Action Amended Amended Amended Y 74: BOARD OF A	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No.	DEPARTM Action Amended Amended Amended Amended Amended New New New New CORRECTI Action	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENC Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1	Amended Amended Amended CY 71: KANSAS D Action Amended Amended Amended Y 74: BOARD OF A	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241
30-6-35 30-6-35 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211	Action Amended Amended Amended Amended Amended Amended New New New CENCY 44: DEPA CORRECTI Action Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577	69-15-7 69-15-12 through 69-15-15 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 242
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through	Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212	DEPARTM Action Amended Amended Amended Amended Amended New New New SENCY 44: DEPA CORRECTI Action Amended Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577	69-15-7 69-15-12 through 69-15-15 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2	Amended Amended Amended CY 71: KANSAS D Action Amended Amended AT 74: BOARD OF A Action Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 242 V. 33, p. 243
30-6-35 30-6-35 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No. 44-12-211 44-12-611	DEPARTM Action Amended Amended Amended Amended New New New SENCY 44: DEPA CORRECTI Action Amended Amended Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 33, p. 577	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENO Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-101	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 243 V. 33, p. 244 V. 33, p. 243 V. 33, p. 244
30-6-35 30-6-35 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-56 30-6-60	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212	DEPARTM Action Amended Amended Amended Amended Amended New New New SENCY 44: DEPA CORRECTI Action Amended Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577	69-15-7 69-15-12 through 69-15-15 69-15-30 AGENC Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-101 74-5-202	Amended Amended Amended Amended Y 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244
30-6-35 30-6-36 30-6-36 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-56 30-6-60 30-6-60	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No. 44-12-211 44-12-212 44-12-601 44-15-204	DEPARTM Action Amended Amended Amended Amended New New New New ACORRECTI Action Amended Amended Amended Amended Amended Action Amended Amended Amended Amended New (T) New	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 577 V. 32, p. 862	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENC Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-101	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 243 V. 33, p. 244 V. 33, p. 243 V. 33, p. 244
30-6-35 30-6-36 30-6-36 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-66 30-6-63 30-6-63	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No. 44-12-211 44-12-212 44-12-601 44-15-204 AGENC	Action Amended Amended Amended Amended Amended Amended New New New New ACORRECTI Action Amended Amended Amended Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 862 V. 32, p. 1150	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENC Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-406 74-5-407 74-6-2	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 245 V. 33, p. 245
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-50 through 30-6-56 30-6-56 30-6-60 30-6-60 30-6-63 30-6-63 30-6-63	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 142 V. 32, p. 1377 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143 V. 32, p. 1377	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No. 44-12-211 44-12-212 44-12-601 44-15-204 AGENC	Action Amended Amended Amended Amended Amended Amended New New New New ACORRECTI Action Amended Amended Amended Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 862 V. 32, p. 1150 ENT OF LABOR—	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENC Reg. No. 71-3-9 71-4-1 AGENC Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-101 74-5-202 74-5-406 74-5-407 74-6-2 74-11-6	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245
30-6-35 30-6-36 30-6-36 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-66 30-6-63 30-6-63	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 Reg. No. 44-12-211 44-12-212 44-12-001 44-15-204 AGENC DIVISION	Action Amended Amended Amended Amended Amended Amended New New New New Action Amended Amended Action Amended Amended Amended Amended Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM N OF WORKERS	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 577 V. 32, p. 862 V. 32, p. 1150 ENT OF LABOR— G COMPENSATION	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-20 74-5-406 74-5-407 74-6-2 74-11-6 74-11-7	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 246
30-6-35 30-6-36 30-6-36 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-65 30-6-67 30-6-70	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212 44-15-204 AGENC DIVISION Reg. No. 51-9-7 51-9-15	Action Amended Amended Amended Amended Amended Amended New New New SENCY 44: DEPA CORRECTI Action Amended Amended Amended Amended Amended Amended Sew (T) New Y 51: DEPARTM N OF WORKERS Action Amended Revoked	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 577 V. 32, p. 862 V. 32, p. 1150 ENT OF LABOR— COMPENSATION Register	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-20 74-5-101 74-5-202 74-5-406 74-5-407 74-6-2 74-11-6 74-11-7	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 245 V. 33, p. 245 V. 33, p. 245 V. 33, p. 246 V. 33, p. 246 V. 33, p. 246
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 through 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-63 30-6-65 30-6-67 30-6-70	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212 44-12-601 44-15-204 AGENC DIVISION Reg. No. 51-9-7	Action Amended Amended Amended Amended Amended Amended Amended New New New New Action Amended Amended Amended Amended Arended Amended Amended Amended Amended Amended Amended New Y 51: DEPARTM N OF WORKERS Action Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 862 V. 32, p. 1150 ENT OF LABOR— COMPENSATION Register V. 32, p. 1299	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-2 74-5-101 74-5-202 74-5-406 74-5-407 74-6-2 74-11-6 74-11-7	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 246
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-50 through 30-6-56 30-6-56 30-6-56 30-6-60 30-6-63 30-6-63 30-6-65 30-6-65 30-6-65 30-6-78	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212 44-12-204 44-15-204 AGENC DIVISION Reg. No. 51-9-7 51-9-15 51-9-17	Action Amended Amended Amended Amended Amended Amended Amended New New New ENCY 44: DEPA CORRECTI Action Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM N OF WORKERS Action Amended Revoked Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 1150 ENT OF LABOR— COMPENSATION Register V. 32, p. 1299 V. 32, p. 836	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-20 74-5-406 74-5-407 74-6-2 74-11-6 74-11-15 A SE	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended Revoked GENCY 81: OFFIC	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 246 V. 39, p. 247 V. 39, p. 248 V. 39, p. 249 V. 39, p. 249
30-6-35 30-6-35 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-41 30-6-50 through 30-6-56 30-6-50 30-6-60 30-6-63 30-6-63 30-6-63 30-6-65 30-6-65 30-6-70 30-6-70 30-6-78	Revoked Revoked (T)	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212 44-12-204 44-15-204 AGENC DIVISION Reg. No. 51-9-7 51-9-15 51-9-17	Action Amended Amended Amended Amended Amended Amended Amended New New New ENCY 44: DEPA CORRECTI Action Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM N OF WORKERS Action Amended Revoked Amended	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 1150 ENT OF LABOR— COMPENSATION Register V. 32, p. 1299 V. 32, p. 836 V. 32, p. 88	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-20 74-5-406 74-5-407 74-6-2 74-11-6 74-11-7 74-11-15 A SE Reg. No.	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 246 E. OF THE HISSIONER Register
30-6-35 30-6-36 30-6-36 30-6-39 30-6-39 30-6-40 30-6-41 30-6-50 through 30-6-56 30-6-56 30-6-56 30-6-60 30-6-63 30-6-63 30-6-65 30-6-65 30-6-65 30-6-78	Revoked Revoked (T) Revoked	V. 33, p. 142 V. 32, p. 1376 V. 33, p. 143 V. 32, p. 1377 V. 33, p. 143	Reg. No. 40-1-20 40-1-28 40-1-37 40-1-48 40-2-14a 40-3-59 40-16-1 40-16-2 AG Reg. No. 44-12-211 44-12-212 44-12-204 44-15-204 AGENCY DIVISION Reg. No. 51-9-7 51-9-17 AGENCY	Action Amended Amended Amended Amended Amended Amended Amended New New New ENCY 44: DEPA CORRECTI Action Amended Amended Amended Amended Amended New (T) New Y 51: DEPARTM N OF WORKERS Action Amended Revoked Amended Amended (7 54: STATE LIBI	Register V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 68 V. 32, p. 183 V. 33, p. 68 V. 33, p. 68 V. 33, p. 69 V. 33, p. 69 RTMENT OF ONS Register V. 33, p. 577 V. 33, p. 577 V. 33, p. 577 V. 32, p. 150 ENT OF LABOR— COMPENSATION Register V. 32, p. 1299 V. 32, p. 82 V. 32, p. 836 V. 32, p. 88 RARY OF KANSAS	69-15-7 69-15-12 through 69-15-15 69-15-17 69-15-30 AGENO Reg. No. 71-3-9 71-4-1 AGENC' Reg. No. 74-2-1 74-2-7 74-4-9 74-5-20 74-5-406 74-5-407 74-6-2 74-11-6 74-11-15 A SE	Amended Amended Amended Amended CY 71: KANSAS D Action Amended Amended Y 74: BOARD OF A Action Amended	V. 33, p. 109 V. 33, p. 109-111 V. 33, p. 111 V. 33, p. 518 ENTAL BOARD Register V. 32, p. 504 V. 33, p. 492 ACCOUNTANCY Register V. 33, p. 241 V. 33, p. 242 V. 33, p. 242 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 244 V. 33, p. 245 V. 33, p. 246 V. 39, p. 247 V. 39, p. 248 V. 39, p. 249 V. 39, p. 249

AGEN	NCY 82: STATE C		98-6-4 98-7-1	Amended	V. 32, p. 1003	111-4-3295 through		
Reg. No.	Action	Register	through			111-4-3305	New	V. 33, p. 35-44
82-3-135a	Amended	V. 32, p. 940	98-7-4	New	V. 32, p. 1003, 1004	111-4-3306		
82-3-602	Amended	V. 32, p. 940 V. 32, p. 940	98-7-6	New	V. 32, p. 1005	through	N.T.	17.00 (0.64
82-3-603	Amended	V. 32, p. 940 V. 32, p. 940	98-8-1	New	V. 32, p. 1005	111-4-3310	New	V. 33, p. 60-64
82-3-604	Amended	V. 32, p. 941	98-8-2	New	V. 32, p. 1006	111-4-3311		
82-3-607	Amended	V. 32, p. 942	98-8-3	New	V. 32, p. 1006	through 111-4-3316	New	V. 33, p. 395-397
82-3-608	New	V. 32, p. 942		GENCY 99: DEP		111-4-3317	New	v. 55, p. 595-597
82-3-1300		, , ,	AGRICU		SION OF WEIGHTS	through		
through				AND MEA	SURES	111-4-3325	New	V. 33, p. 646-653
82-3-1307	New	V. 32, p. 942, 943	Reg. No.	Action	Register	111-4-3326	INCW	v. 55, p. 646 655
82-3-1400	New	V. 32, p. 1354	99-25-1	Amended	V. 32, p. 960	through		
82-3-1401	New	V. 32, p. 1355	99-25-9	Amended	V. 32, p. 960	111-4-3333	New	V. 33, p. 685-688
82-3-1402	New	V. 32, p. 1355	99-40-3	Amended	V. 32, p. 960	111-4-3334	New	V. 33, p. 709
82-4-1	Amended	V. 32, p. 1077				111-4-3335	New	V. 33, p. 710
82-4-3a			AGEN		IORAL SCIENCES	111-4-3336		· 1
through				REGULATOR	I BUARD	through		
82-4-3d	Amended	V. 32, p. 1079-1099	Reg. No.	Action	Register	111-4-3340	New	V. 33, p. 732-736
82-4-3f			102-7-3	Amended (T)	V. 32, p. 916	111-4-3341	New	V. 33, p. 758
through			102-7-3	Amended	V. 32, p. 1356	111-4-3342	New	V. 33, p. 759
82-4-30	Amended	V. 32, p. 1100-1119		AGENCY 109: 1	•	111-4-3343	New	V. 33, p. 760
82-4-6d	Amended	V. 32, p. 1119	FMF		ICAL SERVICES	111-4-3345	New	V. 33, p. 761
82-4-8a	Amended	V. 32, p. 1121				111-5-23	Amended	V. 33, p. 397
82-4-20 82-4-27	Amended	V. 32, p. 1121	Reg. No.	Action	Register	111-5-25	Amended	V. 33, p. 398
82-4-29	Amended Amended	V. 32, p. 1122 V. 32, p. 1122	109-1-1	Amended	V. 32, p. 226	111-5-26	Amended	V. 33, p. 398
82-4-39	Amended	V. 32, p. 1122 V. 32, p. 1122	109-1-1a	Revoked	V. 32, p. 229	111-5-28	Amended	V. 33, p. 399
82-4-48a	Amended	V. 32, p. 1122 V. 32, p. 1122	109-2-2	Amended	V. 32, p. 1512	111-5-31	Amended	V. 33, p. 400
			109-2-5	Amended	V. 32, p. 612	111-5-200	Amended	V. 33, p. 400
AG	GENCY 91: DEPAI		109-2-7	Amended	V. 33, p. 644	111-5-212a	New	V. 33, p. 688
	EDUCATIO	ON	109-2-11	Amended	V. 33, p. 644	111-5-213		
Reg. No.	Action	Register	109-2-13	Amended	V. 33, p. 646	through	New	V 22 p 680 600
91-1-200		_	109-3-5	Amended	V. 33, p. 849	111-5-217 111-7-261	New	V. 33, p. 689, 690
through			109-5-3	Amended	V. 32, p. 230	111-9-199	ivew	V. 33, p. 654
91-1-204	Amended (T)	V. 33, p. 764-772	109-5-5	Amended	V. 32, p. 231	through		
91-1-220	Amended (T)	V. 33, p. 775	109-11-1 109-11-3	Revoked	V. 32, p. 231	111-9-203	New	V. 33, p. 45-47
91-31-32	Amended	V. 32, p. 1527	109-11-3	Revoked Revoked	V. 32, p. 231	111-9-204	New	V. 33, p. 690
91-42-1	New	V. 32, p. 317	109-11-4	Revoked	V. 32, p. 231 V. 32, p. 231	111-9-205	New	V. 33, p. 691
91-42-2	New	V. 32, p. 317	109-11-6	Revoked	V. 32, p. 231 V. 32, p. 231	111-9-206	New	V. 33, p. 737
ACENC	V 02. DEDARTME	NT OF REVENUE	109-15-1	Amended	V. 32, p. 231	111-9-207	New	V. 33, p. 737
			109-15-2	Amended	V. 33, p. 7	111-15-3	Amended	V. 33, p. 401
Reg. No.	Action	Register	109-16-1	New	V. 33, p. 8	111-15-5	Amended	V. 33, p. 402
92-51-21	Amended	V. 32, p. 1325		110. DEDARTM	ENT OF COMMERCE	111-17-9	Amended	V. 33, p. 48
92-56-1	Amended	V. 33, p. 371				111-17-10	Amended	V. 33, p. 48
92-56-2	Amended	V. 33, p. 372	Reg. No.	Action	Register	111-17-12	New	V. 33, p. 65
92-56-4	Amended	V. 33, p. 374	110-6-1	Revoked	V. 32, p. 1049	111-17-13	New	V. 33, p. 403
92-56-5	Amended	V. 33, p. 375	110-6-1a	Revoked	V. 32, p. 1049	111-17-14	New	V. 33, p. 738
92-56-6			110-6-2			111 17 15	New	V. 33, p. 762
through						111-17-15		
			through			111-301-22	Amended	V. 33, p. 473
92-56-9	New	V. 33, p. 375, 376	110-6-7	Revoked	V. 32, p. 1049, 1050	111-301-22 111-301-26	Amended Amended	V. 33, p. 473 V. 33, p. 473
92-56-9		V. 33, p. 375, 376 NT OF REVENUE—	110-6-7 110-6-8	Revoked	V. 32, p. 1049, 1050	111-301-22 111-301-26 111-301-28	Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474
92-56-9 AGENCY		NT OF REVENUE—	110-6-7 110-6-8 through			111-301-22 111-301-26 111-301-28 111-301-29	Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474
92-56-9 AGENCY DIVISI	93: DEPARTMENTON OF PROPERT	NT OF REVENUE— FY VALUATION	110-6-7 110-6-8 through 110-6-12	Revoked New	V. 32, p. 1049, 1050 V. 32, p. 1050-1053	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5	Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763
92-56-9 AGENCY DIVISI Reg. No.	93: DEPARTMENTON OF PROPERT	NT OF REVENUE— IY VALUATION Register	110-6-7 110-6-8 through 110-6-12 110-12-1			111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7	Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763
92-56-9 AGENCY DIVISI Reg. No. 93-6-2	93: DEPARTMENTON OF PROPERTACTION Action Amended	NT OF REVENUE— IY VALUATION Register V. 32, p. 1454	110-6-7 110-6-8 through 110-6-12 110-12-1 through	New	V. 32, p. 1050-1053	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6	Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3	93: DEPARTMENT ION OF PROPERT Action Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6	New Revoked	V. 32, p. 1050-1053 V. 32, p. 854	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-501-6 111-501-101	Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6	New Revoked ENCY 111: KAN	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-312-7 111-501-6 111-501-101	Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6	93: DEPARTMENT ION OF PROPERT Action Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AG	New Revoked ENCY 111: KAN ete index listing	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-312-7 111-501-6 111-501-101	Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas	New Revoked ENCY 111: KAN ete index listing Lottery from 19	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-312-7 111-501-6 111-501-101	Amended Amended Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No.	93: DEPARTMENTON OF PROPERTY Action Amended Amended Amended (CY 98: KANSAS) Action	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AG I A compl the Kansas found in ti	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No.	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No.	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF FAND TOURISM Register
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Compl the Kansas found in the Kansas Re	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No.	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF SAND TOURISM Register V. 32, p. 1299
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2	93: DEPARTMEN ION OF PROPER Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A compl the Kansas found in the Kansas Re 2001 through	New Revoked ENCY 111: KAN ete index listing Lottery from 19 Lottery 19, No. gister. A list of gh 2003 can be fo	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No.	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF 6 AND TOURISM Register V. 32, p. 1299 V. 33, p. 90
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended CY 98: KANSAS Action Amended Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Compl the Kansas found in the Kansas Re 2001 through	New Revoked ENCY 111: KAN ete index listing Lottery from 19 to Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. nsas Register. A list of	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 37, p. 65 V. 37, p. 67 PARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2	93: DEPARTMEN ION OF PROPER Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Compl the Kansas found in tl Kansas Re 2001 through	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gjister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 1983 Register. A list of 4 through 2005 can be	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF 6 AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in ti Kansas Re 2001 throug 52, Decemi regulations found in ti	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 he Vol. 24, No.	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from 2001 pour 200	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2	Amended AMENCY 115: DE LIFE, PARKS Action Amended Amended Amended Amended Amended Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 37, p. 65 V. 37, p. 67 PARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 996 V. 32, p. 996 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in ti Kansas Re 2001 through 52, Decemi regulations found in ti Kansas Re	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fo ber 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 152, December 28, 2000 regulations filed from 1900 can be 1900 c	111-301-22 111-301-26 111-301-29 111-312-7 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a	Amended Antion Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF SAND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 320
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in th Kansas Re 2001 through 52, Decemi regulations found in th Kansas Re	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fo	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 100 nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 100 nsas No. 1	111-301-22 111-301-26 111-301-28 111-301-29 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 996 V. 32, p. 996 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in tl Kansas Re 2001 through 52, Decemi regulations found in tl Kansas Re 2006 through 52, Decemi 52, Decemi	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fe ber 27, 2007 Ka	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 1838 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1838 Register. A list of 184 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1838 Register. A list of	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-4-15	Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 33, p. 67 PARTMENT OF S AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in ti Kansas Re 2001 throug 52, Decemi regulations found in ti Kansas Re 2006 throug 52, Decemi regulations	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fe ber 27, 2007 Ka s filed from 20	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 188 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1888 Register. A list of 188 through November	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-11 115-4-15 115-5-1 115-5-2 115-5-2 115-6-1	Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF SAND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 483 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended (CY 98: KANSAS) Action Amended Revoked Amended Amended Revoked Amended Amended Revoked Amended Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Gompl the Kansas found in the Kansas Re 2001 through 2001 through 2006 through 52, Deceming the Language Section of the Cansas Re 2006 through 2006 through 2009 can be	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fober 27, 2007 Ka s filed from 20 e found in the Vol.	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 152, December 28, 2000 regulations filed from 1990 can be 1990 c	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-11 115-4-15 115-5-1 115-5-1 115-6-1 115-6-1 115-7-10	Amended Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 PARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6	93: DEPARTMEN ION OF PROPER Action Amended Amended Amended (CY 98: KANSAS) Action Amended Revoked Amended Amended Amended Amended Amended Revoked Arended Revoked Arended Revoked Arended Revoked Arended Revoked Arended Revoked	NT OF REVENUE— TY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 998 V. 32, p. 998 V. 32, p. 998	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in ti Kansas Re 2001 through 52, Decemi regulations found in ti Kansas Re 2006 through 52, Decemi regulations found in ti Kansas Re 2006 through 53, Decemi regulations	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 20 fober 27, 2007 Ka s filed from 20 found in the Vo	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 188 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1888 Register. A list of 188 through November	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-4-15 115-5-1 115-5-2 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 33, p. 67 PARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 90 V. 33, p. 90 V. 32, p. 319 V. 32, p. 320 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended Amended Amended Amended Revoked Amended Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 AGI A compl the Kansas found in th Kansas Re 2001 through 52, Decemi regulations found in th Kansas Re 2006 through 52, Decemi regulations 2009 can be 31, 2009 Ka	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 gister. A list of gh 2007 can be fe ber 27, 2007 Ka s filed from 20 et found in the Vo cusas Register. A ember 1, 2009	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. 1888 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bund in the Vol. 26, No. 1888 Register. A list of 08 through November 10. 28, No. 53, December 1. 181 of regulations filed	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-4a 115-4-11 115-5-1 115-5-1 115-5-2 115-6-1 115-8-1 115-8-2	Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 FARTMENT OF AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 90 V. 32, p. 320 V. 32, p. 320 V. 32, p. 320 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300 V. 32, p. 856
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS N Action Amended Revoked Amended Amended Revoked Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Amended Revoked Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Gil A compl the Kansas found in the Kansas Re 2001 through 52, Decemi regulations found in the Kansas Re 2006 through 52, Decemi regulations 2009 can be 31, 2009 Ka from Dece 2011, can b	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fe ber 27, 2007 Ka s filed from 20 e found in the Vo msas Register. A mber 1, 2009 e found in the Vo	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bund in the Vol. 26, No. nsas Register. A list of 08 through November bull 28, No. 53, December chist of regulations filed through December 21,	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-4-15 115-5-1 115-5-2 115-5-1 115-5-2 115-6-1 115-8-1 115-8-2 115-8-23	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF 6 AND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 320 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended Amended Amended Amended Revoked Amended Revoked Amended Revoked Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Revoked Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999 V. 32, p. 999 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Compl the Kansas found in ti Kansas Re 2001 throug 52, Decemi regulations found in ti Kansas Re 2006 throug 52, Decemi regulations 2009 can be 31, 2009 Ka from Dece 2011, can b 29, 2011 Ka	New Revoked ENCY 111: KAN ete index listing Lottery from 12 Lottery from 12 be Vol. 19, No. gister. A list of gh 2003 can be fi ber 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fi ber 27, 2007 Ka s filed from 20 e found in the Vol. unsas Register. A he found in the Vol. unsas Register. A	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 1838 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1838 Register. A list of 184 through November 1851. 28, No. 53, December 1851. 28, No. 53, December 1851. 28, No. 53, December 21, 1851. 30, No. 52, December 21, 1851. 30, No. 52, December 21, 1851. 30, No. 52, December 200.	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-11 115-4-15 115-5-1 115-5-2 115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-8-2 115-8-2 115-9-8	Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF FAND TOURISM Register V. 32, p. 1299 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 854 V. 32, p. 855 V. 32, p. 1300 V. 32, p. 855 V. 32, p. 1300 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10 98-5-1	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS N Action Amended Revoked Amended Amended Revoked Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Amended Revoked Revoked Amended	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A compl the Kansas found in the Kansas found the Kansas f	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fo ber 25, 2003 Ka filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fo ber 27, 2007 Ka se filed from 20 e found in the Vo unsas Register. A mber 1, 2009 to unsas Register. A mber 22, 2011	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from bound in the Vol. 22, No. 1838 Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bound in the Vol. 26, No. 1838 Register. A list of 108 through November 101. 28, No. 53, December 1. 1815 of regulations filed through December 21, 101. 30, No. 52, December 1. 1815 of regulations filed 1815 of regulations fi	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-4-15 115-5-1 115-5-1 115-5-2 115-6-1 115-8-2 115-8-2 115-8-2 115-8-2 115-9-8 115-14-14	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 33, p. 67 PARTMENT OF SAND TOURISM Register V. 32, p. 1299 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 887 V. 32, p. 899
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-4-5 98-4-7 98-4-8 98-4-7 98-4-8 98-4-10 98-5-1 98-5-2	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended Amended Amended Amended Revoked Amended Revoked Amended Revoked Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Revoked Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999 V. 32, p. 999 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Compl the Kansas found in ti Kansas Re 2001 through 52, Decemi regulations found in ti Kansas Re 2006 through 52, Decemi regulations 2009 can be 31, 2009 Ka from Dece 2011, can b 29, 2011 Ka from Dece 2013, can b	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200; et found in the Volussas Register. A mber 1, 2009 for e found in the Volussas Register. A mber 22, 2011 e found in the Volussas Register. A	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 188 through 2000 can be 52, December 28, 2000 regulations filed from pound in the Vol. 22, No. 188 nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from pound in the Vol. 26, No. 188 nsas Register. A list of 108 through November 10. 28, No. 53, December 10. 130, No. 52, December 11, 131, 131, 131, 131, 131, 131, 131,	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-8-2 115-14-14	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 765 V. 33, p. 65 V. 33, p. 65 FARTMENT OF FAND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 320 V. 32, p. 320 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10 98-5-1 98-5-2 through	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS N Action Amended Revoked Amended Amended Revoked Amended Revoked Amended Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A GI A compl the Kansas found in the Kansas Re 2001 through 52, Decemine gulations found in the Kansas Re 2006 through 52, Decemine gulations 2009 can be 31, 2009 Kansas from Decemine 2011, can be 29, 2011 Kansas Re 2013, can be 26, 2013 Kansas Re	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200; et found in the Volussas Register. A mber 1, 2009 for e found in the Volussas Register. A mber 22, 2011 e found in the Volussas Register. A	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bund in the Vol. 26, No. nsas Register. A list of 108 through November 101. 28, No. 53, December 101. 101. 102, No. 52, December 101. 102, No. 52, December 103, No. 52, December 104, No. 52, December 105, No. 52, December 105, No. 52, December 106, No. 52, December 107, No. 52, December 108, No. 52, December 108, No. 52, December 109, No. 52, December	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-41 115-4-15 115-5-1 115-5-2 115-6-1 115-8-2 115-8-2 115-8-2 115-8-2 115-18-7	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 65 V. 33, p. 67 PARTMENT OF SAND TOURISM Register V. 32, p. 1299 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 33, p. 90 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 887 V. 32, p. 899
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10 98-5-1 98-5-2 through 98-5-2	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS N Action Amended Revoked Amended Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Amended Revoked Revoked Revoked Revoked Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Gompl the Kansas found in the Kansas Regulations found in the Kansas found in the Kansas Regulations 2009 can be 31, 2009 Kansas Regulations 2009 can be 2011, can be 29, 2011 Kansas Regulations 2011, can be 26, 2013, can be 26, 2013 Kansas Regulations 2013, can be 26, 2013 Kansas Regulations 2015, can be 26, 2015, can be	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fe ber 25, 2003 Ka s filed from 200 gister. A list of gh 2007 can be fe ber 27, 2007 Ka s filed from 20 et found in the Ve unsas Register. A ember 1, 2009 fe et ound in the Ve unsas Register. A mber 22, 2011 et found in the Ve unsas Register. A	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bund in the Vol. 26, No. nsas Register. A list of 80 through November 10. 128, No. 53, December 11 list of regulations filed 128 through December 21, 129 ol. 30, No. 52, December 120 list of regulations filed 121 through November 6, 122 list of regulations filed 123 list of regulations filed 124 through November 6, 125 list of regulations filed 126 through November 6, 127 list of regulations filed 128 list of regulations filed 129 list of regulations filed 120 list of regulations filed 120 list of regulations filed 131 list of regulations filed 132 list of regulations filed 133 list of regulations filed 145 list of regulations filed 157 list of regulations filed 158 list of regulations filed 159 list of regulations filed 150 list of regulations filed 151 list of regulations filed	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-5-2 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-18-7 115-18-7 115-14-1	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 765 V. 33, p. 65 V. 33, p. 65 FARTMENT OF FAND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 320 V. 32, p. 320 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10 98-5-1 98-5-2 through 98-5-2	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS Action Amended Revoked Amended Amended Revoked Revoked Amended Revoked Revoked Revoked Revoked Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A compl the Kansas found in ti Kansas Re 2001 through 52, Decemi regulations found in ti Kansas Re 2006 through 52, Decemi regulations 2009 can be 31, 2009 Ka from Dece 2011, can b 29, 2011 Ka from Dece 2013, can b 26, 2013 Ka were filed Reg. No.	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fober 27, 2007 Ka s filed from 20 he found in the Volussas Register. A mber 1, 2009 for he found in the Volussas Register. A mber 22, 2011 he found in the Volussas Register. The found in the Volussas Register. A found in the Volussas Register. A found in the Volussas	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from ound in the Vol. 22, No. 100 nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from ound in the Vol. 26, No. 100 nsas Register. A list of 100 nsas Register. Register	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101	Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 65 V. 33, p. 67 PARTMENT OF FAND TOURISM Register V. 32, p. 1299 V. 33, p. 708 V. 32, p. 319 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 320
92-56-9 AGENCY DIVISI Reg. No. 93-6-2 93-6-3 93-6-6 AGEN Reg. No. 98-1-1 98-1-2 98-2-1 98-2-2 98-2-3 through 98-2-20 98-4-1 through 98-4-5 98-4-6 98-4-7 98-4-8 98-4-9 98-4-10 98-5-1 98-5-2 through 98-5-2	93: DEPARTMEN ION OF PROPERT Action Amended Amended Amended ICY 98: KANSAS N Action Amended Revoked Amended Amended Revoked Amended Revoked Amended Revoked Revoked Revoked Amended Revoked Revoked Revoked Revoked Revoked	NT OF REVENUE— FY VALUATION Register V. 32, p. 1454 V. 32, p. 1455 WATER OFFICE Register V. 32, p. 995 V. 32, p. 996 V. 32, p. 998 V. 32, p. 999	110-6-7 110-6-8 through 110-6-12 110-12-1 through 110-12-6 A Gompl the Kansas found in the Kansas Regulations found in the Kansas found in the Kansas Regulations 2009 can be 31, 2009 Kansas Regulations 2009 can be 2011, can be 29, 2011 Kansas Regulations 2011, can be 26, 2013, can be 26, 2013 Kansas Regulations 2013, can be 26, 2013 Kansas Regulations 2015, can be 26, 2015, can be	New Revoked ENCY 111: KAN ete index listing Lottery from 19 he Vol. 19, No. gister. A list of gh 2003 can be fober 25, 2003 Ka s filed from 200 he Vol. 24, No. gister. A list of gh 2007 can be fober 27, 2007 Ka s filed from 20 he found in the Volussas Register. A ember 1, 2009 for he found in the Volussas Register. A mber 22, 2011 e found in the Volussas Register. The found in the Volu	V. 32, p. 1050-1053 V. 32, p. 854 ISAS LOTTERY all regulations filed by 88 through 2000 can be 52, December 28, 2000 regulations filed from bund in the Vol. 22, No. nsas Register. A list of 4 through 2005 can be 52, December 29, 2005 regulations filed from bund in the Vol. 26, No. nsas Register. A list of 80 through November 10. 128, No. 53, December 11 list of regulations filed 128 through December 21, 129 ol. 30, No. 52, December 120 list of regulations filed 121 through November 6, 122 list of regulations filed 123 list of regulations filed 124 through November 6, 125 list of regulations filed 126 through November 6, 127 list of regulations filed 128 list of regulations filed 129 list of regulations filed 120 list of regulations filed 120 list of regulations filed 131 list of regulations filed 132 list of regulations filed 133 list of regulations filed 145 list of regulations filed 157 list of regulations filed 158 list of regulations filed 159 list of regulations filed 150 list of regulations filed 151 list of regulations filed	111-301-22 111-301-26 111-301-28 111-301-29 111-312-5 111-312-7 111-501-6 111-501-101 AGE WILD Reg. No. 115-2-1 115-2-3 115-4-2 115-4-4 115-4-4a 115-4-11 115-5-2 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-18-7 115-18-7 115-14-1	Amended Amended Amended Amended Amended Amended Amended Amended Amended ENCY 115: DE LIFE, PARKS Action Amended	V. 33, p. 473 V. 33, p. 473 V. 33, p. 474 V. 33, p. 474 V. 33, p. 763 V. 33, p. 763 V. 33, p. 765 V. 33, p. 65 V. 33, p. 65 FARTMENT OF FAND TOURISM Register V. 32, p. 1299 V. 33, p. 90 V. 33, p. 708 V. 32, p. 319 V. 32, p. 320 V. 32, p. 320 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89

A	GENCY 117: REA	AL ESTATE	129-6-30	New (T)	V. 32, p. 1380	129-6-106		
	APPRAISAL B	OARD	129-6-30	New	V. 33, p. 146	through		
Reg. No.	Action	Register	129-6-34	New (T)	V. 32, p. 1380	129-6-113	New (T)	V. 32, p. 1397-1405
•		•	129-6-34	New	V. 33, p. 146	129-6-106		•
117-2-2	Amended	V. 33, p. 830	129-6-35	New (T)	V. 32, p. 1382	through		
117-3-2	Amended	V. 33, p. 831	129-6-35	New	V. 33, p. 148	129-6-113	New	V. 33, p. 163-171
117-4-2	Amended	V. 33, p. 832	129-6-36	New (T)	V. 32, p. 1382	129-6-120	New (T)	V. 32, p. 1407
117-5-2	Amended	V. 33, p. 833	129-6-36	New	V. 33, p. 148	129-6-120	New	V. 33, p. 172
117-7-1	Amended	V. 33, p. 473	129-6-38	Revoked (T)	V. 32, p. 1382	129-6-140	New (T)	V. 32, p. 1407
117-20-3	New	V. 32, p. 89	129-6-38	Revoked	V. 33, p. 148	129-6-140	New	V. 33, p. 173
117-20-4	Amended	V. 33, p. 834	129-6-39	New (T)	V. 32, p. 1382	129-6-150	New (T)	V. 32, p. 1407
117-20-7	New	V. 32, p. 89	129-6-39	New	V. 33, p. 148	129-6-150	New	V. 33, p. 173
	ENCY 123: DEPA		129-6-41	New (T)	V. 32, p. 1382	129-6-151	Amended (T)	V. 32, p. 1408
CO	RRECTIONS—D		129-6-41	New	V. 33, p. 149	129-6-151	Amended	V. 33, p. 173
	JUVENILE SEF	RVICES	129-6-42	New (T)	V. 32, p. 1383	129-6-152	Amended (T)	V. 32, p. 1408
Reg. No.	Action	Register	129-6-42	New	V. 33, p. 149	129-6-152	Amended	V. 33, p. 174
•		O	129-6-50			129-6-153	New (T)	V. 32, p. 1408
123-6-105	Amended (T)	V. 33, p. 732	through			129-6-153 129-10-31	New	V. 33, p. 174
123-6-105a	New (T)	V. 33, p. 732	129-6-57	New (T)	V. 32, p. 1383-1388	129-10-31	Amended	V. 32, p. 1488
AGENCY 1	28: DEPARTMEN	T OF COMMERCE—	129-6-50			129-14-2	New (T) New	V. 32, p. 1409
KANS	SAS ATHLETIC (COMMISSION	through			129-14-2	New (T)	V. 33, p. 174 V. 32, p. 1409
Reg. No.	Action	Register	129-6-57	New	V. 33, p. 149-154	129-14-3	New (1)	V. 32, p. 1409 V. 33, p. 175
•		O	129-6-60	New (T)	V. 32, p. 1390	129-14-20	New (T)	V. 32, p. 1409
128-1-1	Amended	V. 32, p. 1455	129-6-60	New	V. 33, p. 156	129-14-20	New (1)	V. 32, p. 1409 V. 33, p. 175
128-2-1	Amended	V. 32, p. 1456	129-6-63	New (T)	V. 32, p. 1391	129-14-20	New (T)	V. 32, p. 1410
128-2-3a	New	V. 32, p. 1457	129-6-63	New	V. 33, p. 157	129-14-21	New	V. 33, p. 175
128-2-6			129-6-65	New (T)	V. 32, p. 1391	129-14-22	Revoked (T)	V. 32, p. 1410
through		V 00 14FF 14F0	129-6-65	New	V. 33, p. 157	129-14-22	Revoked	V. 33, p. 175
128-2-9	Amended	V. 32, p. 1457, 1458	129-6-70			129-14-23	New (T)	V. 32, p. 1410
128-2-12	Amended	V. 32, p. 1458	through			129-14-23	New	V. 33, p. 176
128-2-13	Amended	V. 32, p. 1458	129-6-74	New (T)	V. 32, p. 1391, 1392	129-14-25	New (T)	V. 32, p. 1410
128-3-1	Amended	V. 32, p. 1459	129-6-70			129-14-25	New	V. 33, p. 176
128-4-2			through			129-14-26	New (T)	V. 32, p. 1411
through	A	V 22 - 1400 1465	129-6-74	New	V. 33, p. 157, 158	129-14-26	New	V. 33, p. 176
128-4-9	Amended	V. 32, p. 1460-1465	129-6-77	Revoked (T)	V. 32 p. 1393	129-14-27	Amended (T)	V. 32, p. 1411
128-5-1	Amended	V. 32, p. 1466	129-6-77	Revoked	V. 33, p. 159	129-14-27	Amended	V. 33, p. 177
128-5-2	Amended	V. 32, p. 1466	129-6-80			129-14-28	New (T)	V. 32, p. 1412
128-5-3	New	V. 32, p. 1467	through	1.T (TT)		129-14-28	New	V. 33, p. 177
128-6-1	Amended	V. 32, p. 1467	129-6-89	New (T)	V. 32, p. 1393-1395	129-14-30		-
128-6-6	New	V. 32, p. 1472	129-6-80			through		
128-6-7	New	V. 32, p. 1472	through		17.00 450.464	129-14-37	New (T)	V. 32, p. 1412-1414
		ENT OF HEALTH	129-6-89	New	V. 33, p. 159-161	129-14-30		
AND E	ENVIRONMENT-	—DIVISION OF	129-6-91	New (T)	V. 32, p. 1395	through		
]	HEALTH CARE I	FINANCE	129-6-91	New	V. 33, p. 161	129-14-37	New	V. 33, p. 178-180
Reg. No.	Action	Register	129-6-94			129-14-40	New (T)	V. 32, p. 1414
Ü		Ü	through	NI (TP)	V 20 - 100F 1007	129-14-40	New	V. 33, p. 180
129-1-1	New (T)	V. 32, p. 1380	129-6-97	New (T)	V. 32, p. 1395, 1396	129-14-50	New (T)	V. 32, p. 1415
129-1-1	New	V. 33, p. 146	129-6-94			129-14-50	New	V. 33, p. 180
129-2-1	New (T)	V. 32, p. 1380	through	NT	V 22 - 161 162	129-14-51	Amended (T)	V. 32, p. 1415
129-2-1	New	V. 33, p. 146	129-6-97	New	V. 33, p. 161, 162	129-14-51	Amended	V. 33, p. 180
129-2-2	New	V. 33, p. 146	129-6-103	New (T)	V. 32, p. 1396	129-14-52	Amended (T)	V. 32, p. 1415
129-5-1	Amended	V. 33, p. 754	129-6-103	New	V. 33, p. 162	129-14-52	Amended	V. 33, p. 180

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594